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Topic:- CDP_P2_CTET

1)

Sneha’s height is growing very fast and now her hand can easily reach the handle of her
long cupboard from which she can open the cupboard very easily. Sneha’s change in

height is called
(1) Scaffolding

(2) Growth
(3) Learning
(4)

4 Adaptation
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[Question ID = 1][Question Description = S17_CDP_Q001]
1. 1 [Option ID = 1]
2. 2 [Option ID = 2]
3. 3 [Option ID = 3]
4. 4 [Option ID = 4]

2)
The rate of development of each child :
(1) s determined at the time of conception and environment does not play much role in
it.
(2) wunfolds in a dynamic manner through the interaction of heredity and environment.
(3)  can be accurately predicted by looking at the developmental milestones.
(4) cannot be predicted at all since it happens in a random manner.



Y% o=y % fawe i w

(1) efuren & gaa Feife @ e & e gafea gad s fes & fom g
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(4) I sfasgamn faepa el o1 51 el Fife T8 Ao aiiE § e ¢ |
1[Q:Jt[ecs)t19n |Ig =52]][Question Description = $17_CDP_Q002]
2. 2 [Option ID = 6]

3. 3 [Option ID = 7]
4. 4 [Option ID = 8]

?  In middle school, the role of family as a agency for socialization of children :

(I) becomes redundant.

(2) decreases as compared to the early childhood years.
(3) increases as compared to the early childhood years.
(4) remains as important as than in early childhood years.

HIEATHh TRl H, J= o HESH H GiER s g
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[Question ID = 3][Question Description = S17_CDP_Q003]
1. 1 [Option ID = 9]
2. 2 [Option ID = 10]
3. 3 [Option ID = 11]
4. 4 [Option ID = 12]

4)
Assertion (A) : A major criticism of Jean Piaget’s theory is the consideration that children
are active beings.
Reason (R) : Children learn through passive reception of information.
Choose the correct option.
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false
(4) Both (A) and (R) are false
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[Question ID = 4][Question Description = S17_CDP_Q004]
1. 1 [Option ID = 13]
2. 2 [Option ID = 14]
3. 3 [Option ID = 15]
4. 4 [Option ID = 16]

5)

According to Piaget which of these factors plays an important role in cognitive
development ?

(1) Activity

(2) Conditioning
(3) Language

(4) Reinforcement

TSt o S8R 398 | 14 H1 S SAHTeHe fahe 3 geayy e fum 82
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(2) eTgRe
(3) T

(4) g

[Question ID = 5][Question Description = S17_CDP_Q005]
1.1 [Option ID = 17]
2. 2 [Option ID = 18]
3. 3 [Option ID = 19]
4. 4 [Option ID = 20]

%) Which of the following is a correctly matched pair ?

(1) Sensorimotor period-Application of logic to concrete problems

(2) Pre-operational stage-Reversibility and decentration

(3) Concrete operational stage-Object permanence and animistic thinking
(4) Formal operational stage-Abstract thinking



1 F W | g e we g2
(1) HeIdl =reish STaw-qd q9emsi 1 %
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(3) T SihareTe STaT-aig wfae a9 Sieael 99
(4) sl diFaers seawe-ongd 99

1[Q:1?;titgn Ill; =Zeﬂ[Question Description = S17_CDP_Q006]

2. 2 [Option ID = 22]

3. 3 [Option ID = 23]
4. 4 [Option ID = 24]

7)

A child reasons that if the laws are not meeting the needs of the people they can be
changed through mutual agreement and democratic procedures. Which stage of
Kohlberg’s moral development does this child come under ?

(1) Post-conventional Morality

(2) Pre-conventional Morality
(3) Heteronomous Morality
(4)  Autonomous Morality

L o e Ol S e A e s e e o e O G e i e s s e o
ERaiie UisHaIstl o H1eH § 9eell ST Hehdl ¢ | I8 =] shieTar| & Afqeh foehrd o i sTae
H e g ?

(1) IW—9RUfER Afdsha

(2) YH-IRufE Hfqewd

(3) faug Sfgera

(4) @ Afawd

[Question ID = 7][Question Description = S17_CDP_Q007]
1. 1 [Option ID = 25]
2. 2 [Option ID = 26]
3. 3 [Option ID = 27]
4. 4 [Option ID = 28]

8)
In Lev Vygotsky’s theory the teachers should to enable the child to learn
meaningfully.
(1) provide scaffolding
(2) ensure conditioning
(3) offer rewards
)

(4) give punishment



o SATHT o STHR 312qvl HiEA & fore el =0 == -
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(3) %Rl A S FIfeT |
(4) o HST <A =0E
1[Q:Jt[egti9n III[J) =289}[Question Description = S17_CDP_Q008]
2. 2 [Option ID = 30]

3. 3 [Option ID = 31]
4. 4 [Option ID = 32]

9 504 . ;
A key characteristic feature of the progressive classroom is that :

(1) The learner passively receives the knowledge

(2) The learner construct knowledge actively

(3) The learner grasp knowledge through rote memory
(4) The learner learn mainly through imitation

yTfererer she ot fesre §, T
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(2) Toremelf 9 @1 feior s B

(3) Torenell e Wit % mem 9 99 #1 7E0 = R
(4) Tonenefi siferepor STTH0 Fieh ShEa €1

[Question ID = 9][Question Description = S17_CDP_Q009]
1. 1 [Option ID = 33]
2. 2 [Option ID = 34]
3. 3 [Option ID = 35]
4. 4 [Option ID = 36]

10)
Assertion (A) : Teachers should use standardized IQ tests to measure children’s
intelligence.
Reason (R) : Standardized 1Q tests can predict intelligence accurately.
Choose the correct option.
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3) (A) is true but (R) is false.

(4) Both (A) and (R) are false.
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(4) (A) 3R (R) EHI Terd 1

[Question ID = 10][Question Description = S17_CDP_Q010]
1. 1 [Option ID = 37]
2. 2 [Option ID = 38]
3. 3 [Option ID = 39]
4. 4 [Option ID = 40]

11)

Individuals having high have sensitivity to rhythm, pitch, meter, tone
melody.

(1) Musical intelligence
(2) Bodily-kinaesthetic intelligence
(3) Interpersonal intelligence

)

(4) Linguistic intelligence

o safaedi | o, a1, @, weE & wid gaeeier 2t @ 3T e gfig i urn d S #0
(1) Hifia9 gfs
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(4) e 9fg

[Question ID = 11][Question Description = S17_CDP_Q011]
1. 1 [Option ID = 41]
2. 2 [Option ID = 42]
3. 3 [Option ID = 43]
4. 4[Option ID = 44]

12 : o :
" In socio-constructivist perspective language :

(1) facilitates learning by provisioning for social interaction.
(2) is a barrier in learning process by interrupting thinking.
(3) is insignificant in the learning process.

(4) hinders the processes of learning,.
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[Question ID = 12][Question Description = S17_CDP_Q012]
1. 1 [Option ID = 45]
2. 2 [Option ID = 46]
3. 3 [Option ID = 47]
4. 4 [Option ID = 48]

13)

The culture of a society is highly influential in development of gender roles since :
(I) Gender is a biological construct.

(2) Gender is a social construct.
(3) Gender is genetically determined.
(4) Gender is neither biological nor social.

U T HHT e 3 afgensi s afre faifa s &) e g
(1) et ua Sfasw 9= 8 )

(2) e U Wi WAl E

(3) ST SATAIRER FEh § 79 B4l ¢ |

(4) XA S € 3R A & we |

[Question ID = 13][Question Description = S17_CDP_Q013]
1. 1 [Option ID = 49]
2. 2 [Option ID = 50]
3. 3 [Option ID = 51]
4. 4 [Option ID = 52]

14) - Assessment :

(1) = Should generate tension and stress to ensure learning.

) Should help to improve the process of teaching-learning.
(3) Is a good strategy to label and categorize children.

) Should actively prc:«'mute competitive spirit among children.
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1[Q:Jt[acs)t19n |I|; =513‘]1][Question Description = S17_CDP_QO014]
2. 2 [Option ID = 54]

3. 3 [Option ID = 55]
4. 4 [Option ID = 56]

15 ; ; .
" In order to ensure continuous and comprehensive evaluation teachers should :

(I) Use summative assessment,

(2) Use formative assessment.

(3) Focus on scholastic aspects only.

(4) Focus on use of paper-pencil objective type testing only.

Haq 3 =9 Jeish giafvaa w1 & forg frerenl =t =ifee o o -
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(4) Foe TR-Ufoe SRS TEHR F T F SHE T S §)

[Question ID = 15][Question Description = S17_CDP_Q015]

1. 1 [Option ID = 57]

2. 2 [Option ID = 58]

3. 3 [Option ID = 59]

4. 4 [Option ID = 60]

16)
Which of the following statements about inclusion is NOT Correct ?
(1) Ik regards inclusion and exclusion as connected processes.

(2) Inclusion is focussed on adapting the curriculum for a specific group of students
who are disabled.

(3) Inclusion benefits all students.

(4) Inclusion is a process in which a school attempts to respond to all students as
individuals.
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[Question ID = 16][Question Description = S17_CDP_Q016]
1 [Option ID = 61]
. 2 [Option ID = 62]
3 [Option ID = 63]
4 [Option ID = 64]

17)
Assertion (A) : In a classroom of diverse learners, teachers should give reasonable

autonomy and flexibility in curriculum and assessment strategies.

Reason (R) : Children learn better when they take ownership and their learning needs
are accommodated.

Choose the correct option.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3)  (A)is true but (R) is false.

(4) Both (A) and (R) are false.
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(4) (A) 3R (R) Hi Ted B |

[Question ID = 17][Question Description = S17_CDP_Q017]

AW N =

1 [Option ID = 65]
2 [Option ID = 66]
3 [Option ID = 67]
4 [Option ID = 68]



18)

(1)

Which of the following is an example of assistive technology to aid mobility ?

Walking stick
Braille system
Hearing aids

Magnifying glass

T 1 3T HEITeh! dahilchl o1 SRIATA i gu faafe =l nfaeiierar § #eg o ?

(1) =&
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(4) e oE

[Question ID = 18][Question Description = S17_CDP_Q018]
1. 1 [Option ID = 69]
2. 2 [Option ID = 70]
3. 3 [Option ID = 71]
4. 4 [Option ID = 72]

19)

Which of the following is NOT an effective strategy to engage students with visual
challenges ?

(1) Provide least restrictive environment in the classroom.

2

4

(2) Eliminate unnecessary obstacles from classroom.
(3) Present the concepts in multiple ways.
(4)

Focus on segregation of the students and always make them sit seperately.

e 8 & i T yomedt farnfi foreg gfieanfum & % forg womeh wf 22
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(4) FernfeRdl % gy F1 29F § TEE 3% e o fagm

[Question ID = 19][Question Description = S17_CDP_Q019]
1. 1 [Option ID = 73]
2. 2 [Option ID = 74]
3. 3 [Option ID = 75]
4. 4 [Option ID = 76]



20 : o
) What is creativity ?

(1)  Ability to create or discover something that is novel
(2)
(3) Ability to rote memorize sequences of numbers
(4) Ability to do convergent thinking

Ability to repetitively perform an action without being bored

TEATCHRT 1 & 2

(1)  F® TH S 1 WIeH 1 &Har s i &
(2) fo 9R gU foet e S SRR T T
(3) iRl % AHHI I AR TE HI HAI

(4) SAfErdt 9= T

[Question ID = 20][Question Description = S17_CDP_Q020]
1. 1 [Option ID = 77]
2. 2 [Option ID = 78]
3. 3 [Option ID = 79]
4. 4 [Option ID = 80]

21)

Assertion (A) : Teachers should provide lot of opportunities to the children for discussion
and dialogue.

Reason (R) : Meaningful learning involves the processes of interaction with others,
Choose the correct option.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3) (A) is true but (R) is false.

(4) Both (A) and (R) are false.

HUT (A) : TerRi 1 931 1 F=1 9 HaE i 6 9gd 9 Hieh of AMel |
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(3) (A)H&l € ek (R) e 2 |

(4) (A) 3 (R) EHI Terd )

[Question ID = 21][Question Description = S17_CDP_Q021]
1. 1 [Option ID = 81]
2. 2 [Option ID = 82]
3. 3 [Option ID = 83]
4. 4 [Option ID = 84]



22)
Learner-centred approach involves :
(1) Methods where learners’ own initiative and efforts are involved in learning

(2) Teacher drawing conclusions for the learners
(3) Traditional instructional methods
(4) Methods in which textbook is the centre of learning

Toregrefi-hfzd gfteenmn § =11 wfhe 27

(1) & fafem sl dram § foenfof = = 5t vea &R garg wige 29 €1
(2) TornfeEi o foro faeerl gra fsed feer

(3) TRufE == fafimr

(4) O Rk 579 TeAgETE Shad # %R Al

[Question ID = 22][Question Description = S17_CDP_Q022]
1. 1 [Option ID = 85]
2. 2 [Option ID = 86]
3. 3 [Option ID = 87]
4. 4 [Option ID = 88]

) Teachers should promote the beliefs that learning is :

(1) An active process which has a social context.
An active process but does not have a social context.

2B

(
(3) A passive process which has a social context.
(4) A passive process which does not have a social context.
Torerhi o1 39 favery =i @@ <1 Fifey foh saferm -
(1) T Gfra g & e v |mfes @5y 2 )
(2) W Gl ufeman & uieg SweR gmfsrn deof e g
(3) 1 e i & fomer us amifes de 2 2
(4) e Ffera gfean 8 o S9e |ifes ded 7@ el
[Question ID = 23][Question Description = S17_CDP_Q023]
1. 1 [Option ID = 89]
2. 2 [Option ID = 90]

3. 3 [Option ID = 91]
4. 4 [Option ID = 92]



24 ; : _ ;
) What should be the sequence of introduction of new concepts to children ?

(1) Unknown to known

(2) Higher order to lower order
(3) Abstract to concrete
(4) Simple to complex

Tl 1 7% eraaronat | aftfed e w5y g e 2
(1) =9 T
(2) 3= HAH 79 %A

(3) o W
(4) WA 9 Sfea

[Question ID = 24][Question Description = S17_CDP_Q024]
1. 1 [Option ID = 93]
2. 2 [Option ID = 94]
3. 3 [Option ID = 95]
4. 4 [Option ID = 96]

25)

Contemporary policies of education such as New Education Policy 2020 propose that
learning should be :
(1) Recall based
(2) Textbook centric
(3) Experiential
)

(4 Exam oriented

guerTei Toen =1 Hifaai S92 faen ifg 2020 1 v=@ © & da 1 =1fe |
(1)  TL0) S

(2)  HISTTETF hisd

(3)  STHATHH

(4) e S

[Question ID = 25][Question Description = S17_CDP_Q025]
1. 1 [Option ID = 97]

2. 2 [Option ID = 98]

3. 3 [Option ID = 99]

4. 4 [Option ID = 100]



26) Which of the following are effective problem-solving strategies ?

1)  Analogical thinking
Functional fixedness
iii) Convergent thinking

(

(i1

(

(iv) Algorithms
(

(

(¢

(

~—

b () (i)
(1), (iv)
(i), (i), (iv)
(@), (

Qa2
L e T

4 , (i), (i), (iv)
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(3) (@), (i), (iv)

(4) (@), @) (i), [iv)
[Question ID = 26][Question Description = S17_CDP_Q026]
1. 1 [Option ID = 101]
2. 2 [Option ID = 102]
3. 3 [Option ID = 103]
4. 4 [Option ID = 104]

Encouraging original discovery and thinking in the classroom :

(1) encourages children to become effective problem solvers.

(2)

(3) has a negative impact on meaningful learning;
)

(4

is a hindrance to creating socio-constructivist classrooms.

takes away the focus from encouraging critical thinking.

wen H Hifcrss w9 | @5 wd oo A aeEn 3
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(3)  erefyol erfermy WX TR W9E STErT § |

(4) HHEEIEARES fHa 1 ggel o1 § S g2 ¢ |

[Question ID = 27][Question Description = S17_CDP_Q027]
1. 1 [Option ID = 105]



2. 2 [Option ID = 106]
3. 3 [Option ID = 107]
4. 4 [Option ID = 108]

28 ; :
) What characterises mastery-orlented learners ?

(1) Low fear of failure and incremental view of ability
(2)
(3) High fear of failure and incremental view of ablility
(4) High fear of failure and entity view of ability

Low fear of failure and entity view of ability

Herd-3+ faenfei it o ferdran & 2

(1) oo =1 %9 T iR amar =1 aiftf gfesm
(2) Tormern 1 %9 S AR aua #1 fer giesm
(3) Taweran =1 3= WA iR &Ha1 1 =feieh gfeehim
(4) Towem #1 3= W9 SR e & feer gfesm

[Question ID = 28][Question Description = S17_CDP_Q028]
1. 1 [Option ID = 109]
2. 2 [Option ID = 110]
3. 3 [Option ID = 111]
4. 4 [Option ID = 112]

29)
How can teachers encourage children to become intrinsically motivated learners ?
(1) By offering rewards
(2) By giving punishment
(3) By encouraging passive imitation
(4) By creating joy of learning

Torersr ==t <1 eiafies &9 | sifufed foenef s & fow F5 yrefed =2 96 €2
(1) JTERR ST
(2) ESTeE
(3) TAfewa et =l Ureifed &
(4) HiEd w1 g i w=E
1[Q1L1¢[acs)t19n |||3 =121‘§]][Question Description = S17_CDP_Q029]
2. 2 [Option ID = 114]

3. 3 [Option ID = 115]
4. 4 [Option ID = 116]



30) Teachers should convey their beliefs to the students that ability is :

(1) Uncontrollable
Fixed

@ K
~—

) Incremental

(
(
(

v

) Entirely dependent on external factors

Torerri o1 BTE1 1 9 fovar | sfard U1 Ffe foh &
(1) eaffe &
(2) Tafe=m &
(3) Sfgsfia gl
(4) gh 9 9 Tl weE i)
1[Q:14E=;titgn |I|; =131(7)]][Question Description = S17_CDP_Q030]
2. 2 [Option ID = 118]

3. 3 [Option ID = 119]
4. 4 [Option ID = 120]

Topic:- SS_P2_CTET

1)
At which of the following sites, the evidence of earliest villages have been formed ?

(1) Hallur

(2) Chiraud
(3) Mehrgarh
(4) Burzahom

Frefafaa § & fog e 9 gy el & g9 e €2
(1) Tl
e
(2) e
(3) T
(4) gfEm
[Question ID = 91][Question Description = S17_Social Science_Q031]
1. 1 [Option ID = 361]
2. 2 [Option ID = 362]

3. 3 [Option ID = 363]
4. 4 [Option ID = 364]

2)



Match the following columns and choose the appropriate option.

Column-A
(a) Nigel Wordon
(b) K. S.Singh
(¢) Cohn, Clarke and Haswell

(d) Verrier Elwin and
Shamrao Hivale
Options :

(1) (@-@), (b)-(ii), (c)-(iv), (d)-(iii)
(2) (@), (b)-(), (c)-(i), (d)-(iv)
(3)  (@)-@v), (b)-(1), (c)-(i), (d)-(ii)
(4 (@)-(id), (b)-(iv), (c)-(i), (d)-(ii)

Wi - A
(a) RS dred (i)
(b) .y, Tz

c) e, FF UF graad

i)
)

Column-B
The economy of subsistence agriculture
Songs of the Maikal

The chains that bind us: A History of Slavery
at the Cape.

Birsa Munda and His Movement

18 st 1T Hfemedd wiishe=t
Ty S T e
(i) & 99 2 @Ee o191 feedl i woterll Uz § 9

(
(d) ofer tfeas ud sl feare (v)  faeen ge1 ug fes gate

faeney :

(1)  (a)-(), (b)-(ii), (€)-(iv), (d)-(iii)
(2)  (a)-(i), (b)-(1), (c)-(ii), (d)-(iv)
(3)  (a@)-@v), (b)-(), (¢)-(i1), (d)-(iii)
(4)  (a)-(iii), (b)-(iv), (c)-(1), (d)-(ii)

[Question ID = 92][Question Description = S17_Social Science_Q032]

1 [Option ID = 365]
2 [Option ID = 366]
3 [Option ID = 367]
4 [Option ID = 368]

AW N =

3)

Who among the following American Geologists travelled to Chhattisgarh in search of

iron ore deposits ?

(1) Michael Faraday

(2) Charles Weld

(3) Nathaniel Halhed
(4) Richard Westmacott



Frefafaa § § forg sadien) Ya=nfrer 3 de e el i iseie § Seiae &1 2 2
(1) TEsed Fe

(2) =eH dTS
3) \fe gers
(4) T=E awdmE

[Question ID = 93][Question Description = S17_Social Science_Q033]
1. 1 [Option ID = 369]
2. 2 [Option ID = 370]
3. 3 [Option ID = 371]
4. 4 [Option ID = 372]

? Which one of the following is the correct explanation of “hasht-bihisht’ ?

(1) A central hall surrounded by seven rooms.

(2) A central hall surrounded by six rooms.
(3) A central hall surrounded by ten rooms.
(4) A central hall surrounded by eight rooms.

Frefafad 7 | @ ' gea-fafesd ' &1 &t =amen 27
(1) W kel &, 9d 90 § Bl g
(2) UH HEMF wE, D FHU F fory ga
(3) U Hhar ww, T FHA § o gen
(4) UF HEA HE, S FEA H fErm gen

[Question ID = 94][Question Description = S17_Social Science_Q034]
1. 1 [Option ID = 373]
2. 2 [Option ID = 374]
3. 3 [Option ID = 375]
4. 4 [Option ID = 376]

5)
Which of the following correctly lists the countries to which Buddhism spread from India,
in chronological order from earliest to latest ?
(1) Korea, Japan, Cambodia
(2) Vietnam, China, Japan
(3) China, Korea, Japan
(4)

4 China, Japan, Korea



Frefafad & 9 i FemsharaR SFafterd Ul i e gut & SRl Rd ¥ §ig o o TEE g o ?
(1)  =HITCE, S, shafean

(2) Tommam, 9, SME

(3) =4, i, smaE

(4) =H, SUE, sHifen

[Question ID = 95][Question Description = S17_Social Science_Q035]
1. 1 [Option ID = 377]
2. 2 [Option ID = 378]
3. 3 [Option ID = 379]
4. 4 [Option ID = 380]

6)
Consider the following statements (A) and (R) and choose the correct option.

Assertion (A) : Henry Thomas Colebrook and Nathaniel Halhed were busy in discovering
ancient [ndian texts.

Reason (R) :  They were Orientalists.

Options :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true and (R) is not the correct explanation of (A).
(3)  (A)is true but (R) is false.

(4)  (A) is false but (R) is true.

frefafaa el (A) 991 (R) 92 fa=r s 23 92l faskeq 941

T (A) : ST 4THE HIeTh AR TN Beles W= HRA Gl i @rsl § =45 4|
AT (R) : & Wr=garel 4|

faerea

(1) SFT (A) T (R) 93 € 7 (R), (A) =T 6T =@ €1
(2) EFl(A)FAT(R) TF € 3R (R), (A) I HE =S 7E ¢
(3)  (A) T3 & AT (R) 7o T

(4) (A) 7Te € Wi (R) 9 €

[Question ID = 96][Question Description = S17_Social Science_Q036]
1. 1 [Option ID = 381]
2. 2 [Option ID = 382]
3. 3 [Option ID = 383]
4. 4 [Option ID = 384]

7)



Match the following in the context of Chola empire lands and choose the appropriate
option.
A B

(a) Pallichchhandam (i) Land donated to Jaina Institutions

(b) Shalabhoga (ii) Land of Non-Brahmana peasant proprietors
(c) Devadana (iii) Land for the maintenance of a school

(d) Vellanvagai (iv) Land gifted to temples

Ophons

(1) (a)-(ii), (b)~(iv), (c)-(1), (d)-(ii
(2) ()(1) (b)-(iii), (c)-(iv), (d)-(ii
(3)  (@)-@v), (b)-(iii), (c)-(), (d)-(id
(4) )-

)
)
)
(a)-(1), (b)-(11), (c)-(iv), (d)-(iii)

4

el G Yt & ool § frefafaa #1 fuam Fifse 8k suge fawey &1 e #ifd)

A B

(a) Tfcersien @) S T S EE & T g

(b) S (i) Tr-smEm fRam @ w5 g

(c) <M (i) Tt faener & vevamE & fog vfF
(d) doeTaTE @(v) Tfew = SwEr ¥ & 7 gy

faehey

(1) (@)-(), (b)-(iv), (€)-(D)s (d)-(i)

(2)  (@)-(), (b)-(iii), (c)-(iv), (d)-(ii)

(3)  (a)-(v), (b)-(iii), (€)(3), (d)-(ii)

(4) ()@ (b)-(i), (c)-(iv), (d)-(iii)

[Question ID = 97][Question Description = S17_Social Science_Q037]
1. 1 [Option ID = 385]
2. 2 [Option ID = 386]
3. 3 [Option ID = 387]
4. 4 [Option ID = 388]

8 . . .
) What does ‘Bewar” refers to in the central India ?

(1) A field uncultivated for a while.

(2) A term used for shifting cultivation.
(3) A unit of measurement of land.
(4)

4 The waste left when a metal is smelted.



e Yd H, ‘He § F aread 82

(1) U @a 59 2 999 & fore famn et o sStg oo s o)
(2) 3 W % fore wgE B A v |

(3) 99 = AT I TH THE |

(4) g I TN F SR =1 g FHE |

[Question ID = 98][Question Description = S17_Social Science_Q038]

1. 1 [Option ID = 389]

2. 2 [Option ID = 390]

3. 3 [Option ID = 391]

4. 4 [Option ID = 392]

9)
In Madras Presidency, which of the following reformers formed an association for widow
remarriage ?
(1) Ishwarchand Vidyasagar

(2) Swami Dayanand Saraswati

(3) Veera Salingam Pantulu

4 Ram Mohan Roy

Trefafad d§ | fog gures A v/ Usiies! § fauen faame & 9829 § u |ed o9 912
(1) svatss fommrm

(2) @ gFHeE JEdl

(3) EwifETd Ugq

(4) THHE T3

[Question ID = 99][Question Description = S17_Social Science_Q039]
1. 1 [Option ID = 393]
2. 2 [Option ID = 394]
3. 3 [Option ID = 395]
4. 4 [Option ID = 396]

10)

The statement, “oru jatti, oru matam, oru daivam manushyanu” (one caste, one religion,
one God for human kind ), was given by :

(1)  Sri Aurobindo

(2) Shri Narayana Guru

(3

)  Swami Dayanand Saraswati
(4) Ishwarchandra Vidyasagar



g YA ' o7 Sfd, $7E HIaE, @i% 39E, A (U S, U o, 9Ea Sifd & faw o svar)
e g e T ?

(1) 4t sefaa

(2) 4 AR TH

(3) T TAHE HE=ET
(4) ¥R == fammErR

[Question ID = 100][Question Description = S17_Social Science_Q040]
1. 1 [Option ID = 397]
2. 2 [Option ID = 398]
3. 3 [Option ID = 399]
4. 4 [Option ID = 400]

11)

Read the Statements (A) and (R). Choose the appropriate option.

Assertion (A) : The works of the Bhakti saints became immensely popular.

Reason (R) : Most of their works were composed in regional languages and could be

sung.

Choose the correct option.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A)is true but (R) is false.
(4) Both (A) and (R) are false.

Trfafiad wmet (A) 317 (R) &1 9¢ 91 98l fasey 97

T (A) : VR Fdl ! T ST TAhTT &3 |

/I (R) : 2 Gal 1 srferenier T et el § = T off ofR 3 e | T =
el o |

farency

(1) (A) iR (R) SF |8 ¥ oiX (R) Wel =amen & € (A) i

(2) (A) 3R (R) ST Wel € Afep (R) T& =me 72 ¥ (A) i

(3) (A) TEl &, «ifeh (R) Terd |

4) (A) 3R (R) 2F 7ToTd & |

[Question ID = 101][Question Description = $17_Social Science_Q041]
1. 1 [Option ID = 401]
2. 2 [Option ID = 402]
3. 3 [Option ID = 403]
4. 4 [Option ID = 404]

12)



Who among the following was one of the first painters to create a style that was both
modern and national ?

(1) Abanindranath Tagore
(2) Raja Ravi Varma

(3) Nandlal Bose

(4) Mohan Das

Frretferfaa & 4 9 3 vee Fosmd § 9w 9 520 snyfen oir udla wen dieft fasfag w0
| Frrer fean?

(1) srafigare TR

(2) U= g FHl

(3) igwre |E

(4) HIETTH

[Question ID = 102][Question Description = S17_Social Science_Q042]
1. 1 [Option ID = 405]
2. 2 [Option ID = 406]
3. 3 [Option ID = 407]
4. 4 [Option ID = 408]

13)
Match the following columns and choose the appropriate option.

Column-A Column-B
(a) Amrit Bazaar Patrika (i)  Gopal Ganesh Agarkar
(b) The Indian Mirror (ii) Raja Ram Mohan Roy
(c) Mirat-Ul Akhbar (iii) Devendra Nath Tagore
(d) Sudharak (iv) Shishir Kumar Ghosh and Motilal Ghosh
Options :
(1) (a)(i), (b)-(v), (c)-(ii), (d)-(3)
(2)  (@)-@v), (B)-(iid), (c)-(ii), (d)-(1)
(3)  (a)-(iti), (b)-(iv), (c)-(3), (d)-(i1)
(4)  (@-@), (b)-(iii), (c)-(i), (d)-(iv)



freferfad siemi @1 faam &l sit sy fowed &1 997 1

HicH - A i - B
(a) 3TA ISR 9 (i)  TIHTE O SR
(b) e A (i) TS UHERA T
(c) faua 3@ sT@ar (i) SEAEAY TR
(d) YUH (iv) Tofer $ur = iR didieme 5
ferercy -
(D) (@)-(), (b)-(v), (c)-(iid), (d)-(1)
(2)  (a)-@v), (b)-(iii), (c)-(ii), (d)-()
(3)  (a)-(ii), (b)-(iv), (c)-(1), (d)-(i)
(4)  (a)-@1), (b)~(iii), (0)-(ii), (d)-(iv)

[Question ID = 103][Question Description = S17_Social Science_Q043]
1. 1 [Option ID = 409]
2. 2 [Option ID = 410]
3. 3 [Option ID = 411]
4. 4 [Option ID = 412]

14)

Arrange the following events, which contributed to the nation building after India’s
independence, in a chronological order.

(A) First conference of non-aligned countries at Bandung,

(B) Formation of state of Andhra on linguistic basis.

(€) Setting up of Planning Commission.

(D) First General Elections.

Options :

(1) (©), (D), (A), (B)
(2) (©), (D), (B), (A)
(3) (D) (©), (B) (A)
(4 (D) (B) (C), (A)



YR ol Tl & o1g U Tt e < aredl Fefafed s 1 sesraran safierd
Cadl

(A) wign H Yefdy v i ggel e

(B) WIS SMHUR W Y TH I 7137

(C)  TSHI SN hi &9

faerea :

(1)  (©), (D), (A), (B)
(2) (©, (D), (B), (A)
(3) (D), (©), (B), (A)
(4) (D), (B), (O), (A)

[Question ID = 104][Question Description = S17_Social Science_Q044]
1. 1 [Option ID = 413]
2. 2 [Option ID = 414]
3. 3 [Option ID = 415]
4. 4 [Option ID = 416]

15)
Statements (A) and (B) are the main features of which of the following continents ?
(A) The Continent is bound by oceans and seas on all sides.
(B) Tropic of Cancer, The Equator and Tropic of Capricorn pass through this continent.

Options :

(1) Asia

(2) Australia

(3) South America
(4) Africa

HYF (A) i (B) Frerfafea # & form wergty &t favoand &2
(A) ¥ HEErd =9R WE @ gy iR geeri 4 B E
(B) oheh, fargam o weRt il Tl ey St et € |

e :

(1) uferm

(2) srgfan

(3)  afamT 2THER
(4)  AHIHT

[Question ID = 105][Question Description = S17_Social Science_Q045]
1. 1 [Option ID = 417]
2. 2 [Option ID = 418]



3. 3 [Option ID = 419]
4. 4 [Option ID = 420]

16)

The opening time of Central Government offices in India is 9:00 am. IST, what will be the
local time of opening of the Central Government offices located at 77°15" East Longitude
near Bhopal and 88°30' East Longitude near Gangtok, respectively ?

(1) 08:36 a.m. and 09:21 a.m. respectively
(2)
(3) 08:39 am. and 09:24 a.m. respectively
(4)

09:21 a.m. and 08:36 a.m. respectively

09:24 a.m. and 08:39 a.m. respectively

A H Fraid TR o HETedl o Ga & T Jaed 9:00 ( TR 7 §99) g1 e
g 77715 9, 29MaE W 3R TR % GHY 88°30' . S9naT T ferd S wieR & wmfed
o G W1 T FHE 1R 2

(1) 08:36 JaEA 3R 09:21 YaiET HHI:
(2) 09:21 YaTeA 3R 08:36 qaTEA FHAM:
(3) 08:39 YaTEd 3R 09:24 YaTET FII:
(4) 09:24 gaiEA 3R 08:39 YaiE Ol

[Question ID = 106][Question Description = S17_Social Science_Q046]
1. 1 [Option ID = 421]
2. 2 [Option ID = 422]
3. 3 [Option ID = 423]
4. 4 [Option ID = 424]

17)
When we travel from an Indian city to Saskatchewan (97°30'W), a large city in Canada,
how many hours we will gain or lose (let us ignore the time required to reach the city) ?
(1) Gain one day - 24 hours

(2) Gain half day - 12 hours

(3) Lose one day - 24 hours

(4)

4 Lose half day - 12 hours



e B AT e W ISl 3 U oS BT GEhear (97°30° ufvem) Y A ) q w9 fhad
He g F41 a1 TEndd (FfE IET 9% UgE % fAu o aTel STavds 999 F 8H TeNE 6
<) ?

(1) wHk e fSia =i - 24 52

(2) snen e safsia T -12 =52

(3) Uk fgq mandn - 24 w2

(4)  smen feT TETER - 12 "

1[Q:J<[egti9n I|I:)> =412 (;]7][Question Description = S17_Social Science_Q047]

2. 2 [Option ID = 426]

3. 3 [Option ID = 427]
4. 4 [Option ID = 428]

2

18)
Read the Statements (A) and (R). Choose the appropriate option given below.

Assertion (A) : The areas bounded by Tropic of Capricorn and the Antarctic Circle have
moderate temperatures.

Reason (R) : The mid-day sun never shines overhead on any latitude beyond the Tropic
of Capricorn.

Options :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true and (R) is not the correct explanation of (A).
(3)  (A) is true but (R) is false.

(4) (A) is false but (R) is true.

Tr=fafad el (A) 3R (R) Al 9feq q91 3uge fasheq =1 =97 Shife |

U (A) : TR T AR EeTor 7 T o W< 9ol &1 w1 a9EE 5EE B ¢
TUT (R) : HoRL 01 & o015 Forslt off e1a7i91 W Sraet =1 g seft fie & oo =l 8 €
fa=ea

(1) (A) 3R (R) 2 98 & 9901 (R), (A) ! Ha =20 T

(2) (A) 1R (R) S W&l € W (R), (A) 1 9E =0 g g

(3) (A) WEl & W (R) A & |

(4) (A) T € TG (R) FE B

[Question ID = 108][Question Description = $17_Social Science_Q048]
1. 1 [Option ID = 429]
2. 2 [Option ID = 430]
3. 3 [Option ID = 431]
4. 4 [Option ID = 432]

19)



Read the statements (A) and (R) about earthquakes and choose the correct option given
below.

Assertion (A) : Greatest damage is usually closest to the Epiccentre.

Reason (R) : The strength of the earthquake decreases away from the centre.
Options :

(1) Both (A) and (R) are true and (R) is a correct explanation of (A).

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).

(3) (A) is true but (R) is false.

(4) Both (A) and (R) are false.

way & geol # Freferfiad et (A) 91 (R) 1 98 991 Tel faerey o =2 i ;
W (A) : afude & Frereag am o gaifus af St 2

THRUT (R) ; Afeehg | T 9157 & Y Y9 1 diodl -4 w0 St <l §1
faerea

(1) (A) 2R (R) 31 5t € 9901 (R), (A) I Tt = &

(2) (A) 3R (R) SF1 ®E1 § 9] (R), (A) &1 61 =men 76 §

(3) (A) W& & W (R) T ®

(4) T (A) T (R) o @

[Question ID = 109][Question Description = S17_Social Science_Q049]
1. 1 [Option ID = 433]
2. 2 [Option ID = 434]
3. 3 [Option ID = 435]
4. 4 [Option ID = 436]

20 ¢ ;
) Match List-1 to List-I1 and select the correct answer.

List-I List - II

(Grassland) (Location)

(a) ~ Campos (i)  Australia

) . Pampas (ii) Venezuela

(c) Down (ili) Argentina
(d)  Llanos (iv) Brazil
(1) (a)-(v), (b)-(ii), (c)-(), (d)-(iD)
(2)  (a)-(ii), (b)-(ii), (c)-(iv), (d)-(1)
(3)  (@)-(), (b)-(), (€)-(iii), (d)-(v)
(4)  (@)-(Q), (b)-(iv), (c)-(i), (d)-(iii)



Tei-1 = Geit-11 9 fAers = 9l Sa¢ &1 =97 i |
geit-1 Teit-11

T A arafeafa
(a) HE () e
(b) Hard () ST
() =M (iii) ST
(d) @HEE (iv) siE
faeea :
(1) (@)-(v), (b)-(iii), (c)-(), (d)-(ii)
(2)  (a)-(i), (b)-(id), (c)-(iv), (d)-(1)
(3)  (a)-(i), (b)-(i), (c)-(ii), (d)-(iv)
(4)  (@)¢-@), (b)~(iv), (c)-(ii), (d)-(iii)

[Question ID = 110][Question Description = S17_Social Science_Q050]
1. 1 [Option ID = 437]
2. 2 [Option ID = 438]
3. 3 [Option ID = 439]
4. 4 [Option ID = 440]

2 Which are the two places connected by Trans-Siberian Railway system ?

(I) Moscow and Vladivostok
(2) St. Petersburg and Vladivostok
(3) Moscow and Sovetskaya
(4) St Petersburg and Sovetskaya

ST arEafs Yo o5l o < Tl o sired &2
(1) TR SR sfeares
(2) He dedart $R wnfeare®
(3)  HRERl SR HieeHHE
(4) ¥ diedsr iR G
[Question ID = 111][Question Description = S17_Social Science_Q051]
1. 1 [Option ID = 441]
2. 2 [Option ID = 442]

3. 3 [Option ID = 443]
4. 4 [Option ID = 444]



22 . ; )
) Consider the fo]]nwmg statements Iegardjng water resource.

(A) Water can be added but not subtracted from the earth.

(B) Only 2.7% of the fresh water is available and fit for human use on earth.
(C) It wasin the primitive oceans that life began almost 3.5 billion years back.
Which of the above statement(s) is correct ?

(1) Only (A)

(2) (
(3)  Only (A
(4) (
el HHIEA & o) H Frefertad s v fomm

(A) =t 9T SIS S S Hehdl & UL ST TE S Hehdl € |

(B) AeTaV] STel 1 shadl 2.7 U9 Sl HIME SUAERT o fog 397eR it 39eied 2 |
(C) TRI9T 3.5 3E 94 9gal SiieH, 3G TerdrRl H & Ty g7 o1

ST § A |/Y T T9d 8/
(1) s (A)
(2) EE (C)
(3) e (A) 3R (B)
(4) e (B) ¥R (C)
1[.Q:J¢[egzitci>::] III; =414 ; ]2][Question Description = $17_Social Science_Q052]

2. 2 [Option ID = 446]
3. 3 [Option ID = 447]
4. 4 [Option ID = 448]

) What makes stratosphere ideal for flying airplanes ?

(A) Free from clouds.
(B) Free from weather phenomena.

(C) Free from various types of gases.

Options :
(1) Only (A)
Only (A) and (B)

(2)
(3) Only (B) and (C)
(4)



4TS SRS oM % felt grarydee i = 3yt o &2

fawea .

(1) ad (A)

(2) AT (A) 3R (B)
(3) e (B) 4T (C)
(4) R (A) 3R (Q)

[Question ID = 113][Question Description = $17_Social Science_Q053]
1. 1 [Option ID = 449]
2. 2 [Option ID = 450]
3. 3 [Option ID = 451]
4. 4 [Option ID = 452]

24 ; ; :
) Which of the following statements are true about tropical evergreen forests ?

(A) These occur in regions near equator and close to the tropics.

(B) These regions are hot and receive heavy rainfall throughout the year.
(C) There is a short dry season.

(D) They shed their leaves for a small period of time.

Dptions i

(1) y (A)

(2) Only (B) and (D)
(3) Only (A) and (B)
(4)  Only (C) and (D)



Frefafead wudi § 9 Iwesfessi vemen o9 & o d ®F 9 %97 96 §7
(A) AT YH T UE IUHEY o Y 91 S @ |

(B) & T B € uF W I ARl Ay 9wl g €

(C) Tl 7o Yk HiE 2a1 8

(D) 3 918 ¥og * fere sro+t aftal ared §

(1) e (A)

(2) e (B) ¥R (D)

(3) “haE (A) 3 (B)
) =d (C) #R (D)

[Question ID = 114][Question Description = S17_Social Science_Q054]
1 [Option ID = 453]
2 [Option ID = 454]
3 [Option ID = 455]
4 [Option ID = 456]

A W N -

25)

Prople move from rural to urban areas mainly for which of the following reasons ?
(A) In search of employment

(B) In search of education

(C) In search of better health facilities

(D) In search of better accommodation

Options :

(1) Only (A) is correct.

(2) Only (A) and (B) are correct.

(3) Only (B) and (C) are correct.

(4) (A), (B) and (C) are correct.



Trforfad 5 & & T FRvl I Grm ardon I et & S SR 9 € 2
(A) TSR I Temsr H§

(B) Torem =t ey §

(C) wem @A gfausd #1 qam §

(D) d&dt 3EH i qerd |

faerea :

(1) Faet (A) T&T &

(2) FHae (A) 91 (B) HEl ¥ |

(3) *hdel (B) 91 (C) Wel 1

(4)  (A),(B) T (C) W&l €

1[Q:Jt[acs)t19n |I|; =415;]5][Question Description = S17_Social Science_Q055]
2. 2 [Option ID = 458]

3. 3 [Option ID = 459]
4. 4 [Option ID = 460]

26)

Read the statements (A) and (R) and choose the correct option.

Assertion (A) : Industrialization often leads to development and growth of towns and
cities.

Reason (R) : Industries are situated where some or all the factors influencing the
industrial location are easily available.

Options :

(1) Both the statements (A) and (R) are correct and (R) is a correct explanation of (A).

(2) Both the statements (A) and (R) are correct but (R) is not the correct explanation
of (A).

(3)  (A)is correct but (R) is incorrect.
(4)  Both the statements (A) and (R) are incorrect.



= fau o YA (A) T (R) I T8 a1 G Faremed o = Hife
T (A) : ST SRR TR UE v % faer ud gfg # smmn e

/IO (R) : T 39 ©H 2 feem 20 € Sl eieifies & &) guifed &1 9t 39 a1 99 92F
YT | I B & |

fererey -
(1) (A) 91 (R) S I T € 91 (A) 1 F&l TI=HTT (R) B

(2) (A) 791 (R) SFT o9 HEl & Foreg (A) 1 T8 TR (R) &1 21
(3) (A) 9El & FoRg (R) TTomd B |
(4) (A) 9 (R) SFI & 7T © |

[Question ID = 116][Question Description = S17_Social Science_Q056]
1. 1 [Option ID = 461]
2. 2 [Option ID = 462]
3. 3 [Option ID = 463]
4. 4 [Option ID = 464]

27)

In mulching, the bare ground between plants is covered with a layer of organic matter
like straw mainly so that :

(1) it helps to retain soil moisture.
(2) it helps to reduce soil erosion.
(3) it helps farmers to move within the agricultural land.
(4) it helps to reduce growth of weeds.

Heg 5AF § 94l % offg erEfia gft S9 gee S8 gare § @ &t S € aif
(1) 399 Tl 1 ARdl T o Heg foerd & |

(2) 3EH Y4H AW 1 FH B H Age Ao ©

(3) =599 forari &1 |di § =@ oEE g 2

(4) O T-gaEn #1 9fg 1 A F Heg fuerd 2

[Question ID = 117][Question Description = S17_Social Science_Q057]
1. 1 [Option ID = 465]
2. 2 [Option ID = 466]
3. 3 [Option ID = 467]
4. 4 [Option ID = 468]



28) 2 . : . o .
) There is considerable social-cultural diversity in India.”

Identify statements that are representative of diversity from the following,.
(A) Rose likes to wear a Mekhala to Church.

(B) Raju’s family has engaged in sanitation work for many generations.
(C) Ahmed visits his grandmother on Eid.

(D) Ravi visited his hometown during Teej to be with his sisters.
Options :

(1) (A), (B) and (C)

(2)  (B), (©) and (D)

(3)  (A), (©) and (D)

4 (A) (B), (C) and (D)

‘yre § R wefee-giestas fafaya €1 fefated § 9 59wl @ ge=ie s fafasm
GRS

(A) TS =4 S % fofg Awen Jea1 T6E i ¢

(B) U9 =1 uftar 2 difedi 9 U =1 & & #R W e

(C) =1Hg 19 <l 9 e € oL S 2

(D) & oroet = | fier SR o W T8 foaam st % T99 3797 TER S § |

fawey :

(1) (A), (B) 3R (C)
(2) (B), (C) ¥R (D)
(3) (A), (O #R (D)

(4 (A), (B),(C) R (D)
[Question ID = 118][Question Description = $17_Social Science_Q058]
1. 1 [Option ID = 469]
2. 2 [Option ID = 470]

3. 3 [Option ID = 471]
4. 4 [Option ID = 472]

) Khabar Lahriya, a fortnightly newspaper is an example of :

(1) State Media

(2) Local Media

(3) National Media

(4) International Media



T WA, UF e GUERYs, 388 § ;

(1) T H=R |19

(2) T HIR HIEAH

(3) UL IR HIEAH H

(4) STOUREE HER HIEH
[Question ID = 119][Question Description = $17_Social Science_Q059]
1. 1 [Option ID = 473]
2. 2 [Option ID = 474]

3. 3 [Option ID = 475]
4. 4 [Option ID = 476]

30 ; .
) What are the requirements for a balanced report in a newspaper ?

Choose the correct option.

(A) Describe all the aspects of the story
(B) Be non-partial

(C) TFavour the party in power

(D) Be free from political influence
Options :

(1) (&), (B) and (C)

(2)  (B), (©) and (D)

(3) ( ), (B) and (D)

(4) ): (B), (C) and (D)

e GUER 99§ Fafer fdre & fo form awl s erawasand gd &2
Wl fasey &1 =94 Hifa -

(A) S & gt vafi 1 9o

(B) fomaran

(C) HaH &6 1 Y&l & arel

(D) STiTaes FHE | o

faeeg

(1) (A), (B) &R

(2) (B), (O ¥R ()
(3)  (A), (B) 3R (D)
(4)  (A). (B), (O) ¥R (D)

[Question ID = 120][Question Description = S17_Social Science_Q060]
1. 1 [Option ID = 477]
2. 2 [Option ID = 478]
3. 3 [Option ID = 479]



4. 4 [Option ID = 480]

31)

The model of secularism followed in USA is different from the model of secularism followed
in India in terms of :

(1) degree of interference in the religious affairs
(2) autonomy given to religious establishments

(3) recognition of religious establishments

(4) rights given to minorities

T HFRERT SR SRR s % e € 9 ghe § fre ¥
e H |

(1) =fifes Tl ¥ g5a89 % Wi

(2) =i HEsi & g1 T8 W

(3)  ®IfHe Heenadi =l |l

(4) SEYEHEIhl i feu T ARl

[Question ID = 121][Question Description = S17_Social Science_Q061]
1. 1 [Option ID = 481]
2. 2 [Option ID = 482]
3. 3 [Option ID = 483]
4. 4 [Option ID = 484]

32)
Consider the following statements in reference to public facilities and choose the correct
option.
(A) The Constitution of India recognises the right to water as being a part of the Right to
Life under Article 21.

(B) It is the right of every person, whether rich or poor, to have sufficient amount of
water to fulfill his/her daily needs free of cost.

(1) Both (A) and (B) are true.
(2) Both (A) and (B) are false.
(3)  (A) is true but (B) is false.
(4) (A) is false, (B) is true.



o gfaensdi % ded § frefefad for w famm # @i swgw fasmew 94
(A) R Hfaw o =g 21 % siarid U & st o Sfiae & eifuer w1 fewm wen T

Tl

(B) & =, TR, %1 Ig sifere € o 39 Sfer sl =1 qu % & fere warit Aen 8
ot g 1 e |

(1) 3i (B) a1 9l €1

(2) (A) 2R (B) <F Terd ¥

(3) (A) WEl & eifehs (B) TTerd |

(4) (A) T & @R (B) R B

[Question ID = 122][Question Description = S17_Social Science_Q062]
1. 1 [Option ID = 485]
2. 2 [Option ID = 486]
3. 3 [Option ID = 487]
4. 4 [Option ID = 488]

33)

Consider the following statements (A) and (B) in reference to Bhopal gas tragedy and
choose the correct option.

(A) Upto the early 1980’s the environment was treated as a ‘free” entity and any industry
could pollute the air and water without any restrictions.

(B) Union Carbide factory spent good money to clean up the pollution caused due to

gas leak.
(1) Both (A) and (B) are true.
(2) Both (A) and (B) are false.
(3) (A) is true but (B) is false.
(4) (A) is false but (B) is true.

IITe 19 el & Hey # 1 e W faan o @R wE feasen = -
(A) 1980 = BT =Hl ek T Wek "o’ =it A1 Sl A1 qe1 fopedt off =T Rl gan-ur

H Hgu VIS T ol ¥ THaAT g3 o |
(By  IfH wraige St 7 T offd ¥ g ygum ¥ fue & fon o= 89 wd )
(1) (A) iR (B) Tl well €1
(2) (A) 3R (B) THI TTerd 21
(3) (A) H& & wIfer (B) Ted B
(4) (A) 7o & @fRA (B) WEl B

[Question ID = 123][Question Description = S17_Social Science_Q063]
1. 1 [Option ID = 489]
2. 2 [Option ID = 490]



3. 3 [Option ID = 491]
4. 4 [Option ID = 492]

34)

(2) Uma Chakravarti

(

(4) Ismat Chugstai
‘gearrs S st AfEe #iF § 2
(1) dfear
(2) 3T Tl
(3) Tehdl TEEd gHA
(4) O TR

)
3) Rokeya Sakhawat Hossain
)

Who is the author of ‘Sultana’s Dream’ ?
(I) Pandita Ramabai

[Question ID = 124][Question Description = S17_Social Science_Q064]

1. 1 [Option ID = 493]
2. 2 [Option ID = 494]
3. 3 [Option ID = 495]
4. 4 [Option ID = 496]

35)

Match the following terms with their meanings and choose the appropriate option.

Column - I
(Terms)

(i)  Stereotype

(ii)  Discrimination

(iii) Violation

(1) ({D=(0), (i0)-(a),
(2)  (@©-(0) (iD)-(b)
(3) - @-(b), (iD)-(c),
(4)  ([@)-(b), (iD)-(a)

Column - 11

(Meaning)
When someone forcefully breaks the law or
openly shows disrespect.
A belief that people belonging to a particular
groups are bound to have certain fixed
characteristics.
When people are not treated equally or with
respect



Treferfad wsdl =1 37 1] o W19 Yool HIfST 99 I9ger farshed =1 =7 whifse)

e - I wiey - 11
(vr=g) (o7ef)
(i)  wfegafem (a) @ FIE FegEF FFA S & A WEAR W I
RG-S
(i) HeHUE (b) TH A= T TR SR & W W UE F9
&I B B ©
(iii) SeerEd (c)  ST& @ o HIY WHAA! I FHYe S SEel T2l faa
EiGl
(1) (@)-(0) (i)-(a), (ii)~(b)
(2)  (@)-(c) [)-(b), (iii)-(a)
(3)  (@)-(b), (ii)-(c), (iii)-(a)
(4)  (@)-(b), (ii)-(a), (iii)-(c)

[Question ID = 125][Question Description = S17_Social Science_Q065]
1 [Option ID = 497]
2 [Option ID = 498]
3 [Option ID = 499]
4 [Option ID = 500]

A W N -

36)
In abrogation of which rights an individual can file writ petition directly in the Supreme
Court of India for the redressal of grievances ?
(1) Fundamental Rights

(2) Legal Rights
(3)  Civil Rights
(4)  Political Rights

Torg s1feeni < T705 B o AHel | SAferd Tehrad] o SoX GrRfer= & fore geii=t = | e
k] SfEe o Hehdl § 7

(1) Hifes AfeER
(2) oI SATHHR
(3) IR AR
(4) TSI AR

[Question ID = 126][Question Description = S17_Social Science_Q066]
1. 1 [Option ID = 501]
2. 2 [Option ID = 502]
3. 3 [Option ID = 503]
4. 4 [Option ID = 504]

37)



Under the Constitution of India which one of the following is a part of Fundamental
Duties ?

(A) Develop scientific temper

(B) Take care of elderly people

(C) Vote in all the general elections

(D) Send young children to schools by parents.

Options :

(1) (A), (B) and (C)
(2) (A) and (B)

(3)  (A)and (D)

(4) (A), (B) and (D)

W wfaws & srqan fefatag § 4§ 5 9 difers afbe & sfaris em €2
(A) SEfTE T 1 Ty HE

(B) SISl ohl SEYHIE T

(C) & oW g™ H die &

(D) AfqvE=h] 1 B o=l =l faEne S

[Question ID = 127][Question Description = S17_Social Science_Q067]
1. 1 [Option ID = 505]

2. 2 [Option ID = 506]

3. 3 [Option ID = 507]

4. 4 [Option ID = 508]

38)

Under which Article, the Constitution places a duty upon the state to provide a lawyer to
any citizen who is unable to engage one due to poor socio-economic conditions or other

kinds of disability ?
(1) Article 22

(2) Article 39A
(3) Article 21A
(4) Article 17



dfaur % forg erg=ae § fomn @ for 59 &1 98 #ed € foF 9 U8 it 1w aaia &t gand
&M L S FHSR FAMTTs-Ye fRafadl a1 o7 TR &1 SAAHAE] & SR 9 ghid 1@
T 390y B :

(1) AT=5 22

(2) =R 39A

(3) =T 21A

(4) T8 17

[Question ID = 128][Question Description = S17_Social Science_Q068]
1. 1 [Option ID = 509]
2. 2 [Option ID = 510]
3. 3 [Option ID = 511]
4. 4 [Option ID = 512]

39)

The Constitution of India tries to ensure cultural justice to distinct cultural and religious
groups by granting different forms of cultural rights. This has been done to ensure that
the culture of these groups

(1) can be protected from the various communities

(2)

(3) can be at par with that of the culture of majority communities
(4)

is not dominated by the culture of the majority community

can be duly recognised by others

e % dfaur 3 fafist g % gitwfes afrerl % orer g fafe giesfas el aififs
el &l Hiwhias =ad gHAEa &3 #1990 fm ©1 98 satay e = @i 7w giHiEd
T2 ST 9ok T 29 |Hel &1 HEhfd |

(1) = fafs= wHerE § e w@n s |6

(2) W IEEEAF HHSH Il GER(T g1 W 1 SHE WY

(3) EHEIH FHEMEl 1 HEh(d & H9H @

(4) TEU g fafad A= |

[Question ID = 129][Question Description = $S17_Social Science_Q069]
1. 1 [Option ID = 513]
2. 2 [Option ID = 514]
3. 3 [Option ID = 515]
4. 4 [Option ID = 516]

40)



Read the Statements (A) and (B) and choose the appropriate option.

Statement (A) : The governments in India takes various measures such as setting up
committees, undertake surveys for the marginalised groups.

Statement (B) : These measures are taken so that these groups recognise and appreciate
the role of political parties running the government.

Options :
(1) Both (A) and (B) are true.

(2) Both (A) and (B) are false.
(3)  (A) is true but (B) is false.
(4)  (A) is false, (B) is true

HU (A) R (B) i ufgw 921 3UgE faehed &1 =99 Sife |
T (A) : I TR FE (fafir) sum et & o9 fo e uEt & foo afbfa 1 e o
HALTT A |
FUF (B) : T8 3 sHG fFd S € @fF ¥ ©E, S USHifae Sl Sl SRR Fel 1 8w
VfTeRt i TEET L 3R 3% A £ |
w& fasey _Eﬁ :
(1) (A) 3 (B) <FT %@l €1
2) (A) 3R (B) i o €1
(3) (A) FEl 2 &feRa (B) o 7
(4) (A) 7T & SifA (B) HEl &1
1[Q:J?;:t?£] |||3 :511?7»]0][Question Description = S17_Social Science_Q070]
2. 2 [Option ID = 518]

3. 3 [Option ID = 519]
4. 4 [Option ID = 520]

D Which of the following was the division of Indian history made by James Mill ?

(1) Ancient, Medieval and Modern

(2)  Hindu, Muslim and British
(3) Old age, Middle age and Modern age
(4) Early age, Middle age, Modern age



Trefeafea d 9 & 91 YRd & sfder =1 faursE, se f5a gra feen @ ar?
(1) WA, Tegehiel= X s

(2) Teg, ufem 3ir fafew

(3) YU, WP SR S g

(4) ey 7T, weT g SR S g

[Question ID = 131][Question Description = S17_Social Science_Q071]
1. 1 [Option ID = 521]
2. 2 [Option ID = 522]
3. 3 [Option ID = 523]
4. 4 [Option ID = 524]

42)

Which of the following perspectives could be considered as appropriate to teach social
sciences ?

(A) Process of learning promotes the spirit of inquiry and creativity among both children
and teachers.

(B) Concepts be clarified by citing lived experiences of diverse communities.
(€) Language should not be simplified for comprehensibility,

Options :

(1) (A) and (B) only
(2) (A)and (C) only
(3) (B) and (C) only
(4)  (A) only

qrrfsies faam & e & fau fefafeag § 9 o afuedi =6 sugea a1 9l €7

(A)  sferms T fsha a=ai ST femei <1 ST TR TRl 1 ST 1 e St € |
(B) @EuRNS i fafaryargyl wgrE % wsfa srval g v fwan s =feu )

(C)  SeAT=e] <k feTu AT ol HEiehd Tei el Fied |

(1) %9e (A) 3R (B)
(2) = (A) #iR (©)
(3) A (B) R (C)
(4) FE (A)

[Question ID = 132][Question Description = $17_Social Science_Q072]
1. 1 [Option ID = 525]
2. 2 [Option ID = 526]
3. 3 [Option ID = 527]
4. 4 [Option ID = 528]

43)



Watching films can be an effective pedagogical method in the social science classrooms as
it helps to

(1) develop a singular perspective about social realities

(2) break the monotony of teaching

(3) bring forth social contexts/realities that are neglected and unheard
(4)

4 decrease the burden of teaching—learning text based content

grafses faam hensd # el wefdfa e wh g foaremsi fafer & aewd & =il

(1) g8 g arafashaist & o1 H U (THae) dedf #1 fasfaa e 3 germa s @
(2) e Toreror =1 UHTTA F W HE F

(3) T I G Heuf /arafamastl 1 3 @ H Hera #d § S Sufed iR s §
(4) = foer-aiferm fafed fawa-asg % R %1 wer * fou &

[Question ID = 133][Question Description = S17_Social Science_Q073]
1. 1 [Option ID = 529]
2. 2 [Option ID = 530]
3. 3 [Option ID = 531]
4. 4 [Option ID = 532]
44)
Read the following sentences and choose the appropriate option.
(A) : A social science teacher should encourage students to express their opinions and
anxieties arising during the classroom discussions on socially sensitive topics.
(B) : A social science teacher should not introduce the sensitive topics in the classroom.
Choose the correct option.
(1) Both (A) and (B) are true.
(2) Both (A) and (B) are false.
(3) (A) is true but (B) is false.
(4)  (A) is false but (B) is true.



e fau sl 1 v ei sugeR faehed o -

(A) : wHIRF foq o wen et i Fa § Fmifsre &9 § Hagasie g8 &l 991 & SR 96l &
siex 32 @ foaml ofn feael =1 aifyersa # F foru 9fta %o =nfen

(B) : HmfSTer far & ek freren =l e o HegHviiel Yej w1 S € 6l Jife |

Hﬁﬁmﬂﬁ

(1) (A) 3R (B) i %@t 1

(2) (A) 3 (B) SHI Tewd €
(3) (A) W& & @fer (B) Terd 2
(4) (A) T € WA (B) WEI €

[Question ID = 134][Question Description = S17_Social Science_Q074]
1. 1 [Option ID = 533]
2. 2 [Option ID = 534]
3. 3 [Option ID = 535]
4. 4 [Option ID = 536]

* The best approach to introduce ‘Climate Change’ to students is through :

(1) Case study

(2) Textbooks
(3) Question-Answer
(4) Story telling

= 9 ¥ Soam uiEds’ i SRy S o fou ge8 o7=e1 alie SiF | ?
(1) =" a1 g9 A

(2) HISIIEH
(3) WS
(4) @I/ qE

[Question ID = 135][Question Description = $17_Social Science_QO075]
1. 1 [Option ID = 537]
2. 2 [Option ID = 538]
3. 3 [Option ID = 539]
4. 4 [Option ID = 540]

46)

As a social science teacher, why would you use problem solving method in social science
teaching ?

(1) To provide opportunities to the students to utilize their time judiciously.
(2) To ensure that syllabus is completed

(3) To assist students in solving a problem through scientific methods.

(4)

4 To devel(}p ]is'tening and reading skills of the students.



Tk iR fasm S1eAT9s o 99X STy wee 9eEE fafy o el famm fosm | =i
TEHTA A AR ?

(1) faenfeidi =i sTeeR wam & i & S0 999 faaswyol &1 4 s&He L | |

(2) iR ATSTERT THE W QU &1 ek |

(3) Tomnfeli =6t wmen = gy S i@ 9 FeRe g § Heg

(4) fer Taenfelt =67 g7 SR Uer =1 e 1 fasm 1 |

[Question ID = 136][Question Description = S17_Social Science_Q076]
1. 1 [Option ID = 541]
2. 2 [Option ID = 542]
3. 3 [Option ID = 543]
4. 4 [Option ID = 544]

*” The role of a teacher in constructivist classroom is to
(1) deliver lecture
(2) give only right answers
(3) teach only from textbooks
(4) arousing curiosity and interest of the students
TIAETET He H Uk HALATIE i feerT 21
(1) == S &

(2) Tk @l sEme g
(3) ok fepamel & ggr
(4) foenferi =t FSam iR &= = S

[Question ID = 137][Question Description = S17_Social Science_Q077]
1. 1 [Option ID = 545]
2. 2 [Option ID = 546]
3. 3 [Option ID = 547]
4. 4 [Option ID = 548]

48)
Read the following statements,

(A) To encourage comprehension of concepts it is suggested that teacher must avoid
teaching definitions wherever possible.

(B) To encourage conceptual understanding teacher should ask questions that
encourages students to think.

Which is/are valid for the social science classroom ?
(1)  Only (A)

(2) Only (B)

(3) Both (A) and (B)

(4)  Neither (A) nor (B)



Teferfad weAi i ufgu
(A) HeheuTal ! gag (SY) # Yiedifed w & fae g gena fen en @ fr forerss =61 ==t oft

Hyg & TRYIsT % 1¥Ar9e 9 "= Jfe |

(B) HehedHTedeh ¥ ! WicHifed e o forq foeres 1 feranfera =h1 feiae = foe 9fE e 9
99 I =M |

Afse-faam 1 %0 & fau &9 9rd 9y FuF § 2

faerey

(1) ad (A)

(2) a4 (B)

(3) (A) ¥ (B) T

(4)  (A) T (B) <l & T

[Question ID = 138][Question Description = S17_Social Science_Q078]
1. 1 [Option ID = 549]
2. 2 [Option ID = 550]
3. 3 [Option ID = 551]
4. 4 [Option ID = 552]

49)

Which of the following would be the best example to challenge students” stereotypes
regarding ‘gender and behaviour’ ?

(1) Girls cry

(2) Boysdon'tcry

(3) Girls laugh loud
(4) Boys are naughty

‘feim-dry (Sien) wd syaer’ % ded § famnfel # wfesg amon =t gH ¢x & foe fr=fafaa
o HHH 9 IS 9ee 2 7

(1) erefFEa A &

(2) TeHAE U E

(3) orefEa S dEd €
(4) TISH 2@ BA B

[Question ID = 139][Question Description = S17_Social Science_Q079]
1. 1 [Option ID = 553]
2. 2 [Option ID = 554]
3. 3 [Option ID = 555]
4. 4 [Option ID = 556]

50)



Which of the following questions promote critical thinking skills among students ?

(A) What are the causes of downfall of Mourya dynasty ?

(B) What were the social evils that degraded the status of Indian women in the past.
(C) What were the causes and consequences of Second World War ?
(

D) Kirthar and Suleman forests are situated in which country ? For what reason they
are famous in History ?

Options :

(1) (A), (B) and (C)
(2) (B), (C) and (D)
(3)  (A), (B) and (D)
(4) (A), (©) and (D)

Frefafe weal § 9 =F 9 A faenfef=i § srei=mes f=a & S i 9ee od © 2
(A) T G991 YA o HR F Y ?

(B) &= =t wrifein sugal off =i erdta oy ufgenedi =) i 1 ufe foman?
(C) Tt fava 93 % wrw &I uftomy &1 972

(D) Tepelt siix germm a9 form o H feom €2 sfoem o 9 forw &Rw gfas 972
nﬁﬁaﬁq ﬂe[ g

(1) (A), (B) ¥R ()

(2 (), (Q) ¥ (D)

(3) (A), (B) 3R (D)

(4) (A), Q) ¥R (D)

1[Q:J?;:t?; |||3 :515‘;]0][Question Description = S17_Social Science_Q080]

2. 2 [Option ID = 558]

3. 3 [Option ID = 559]
4. 4 [Option ID = 560]

*Y Field visit as a part of geography class based on which principle of teaching ?

(1)  Principle of observation

(2)  Principle of experiential learning
(3) Principle of synthesis
(4) Principle of reinforcement



il B A ggfa steae & R fagia w anenfa €2
(1)  Jeq =1 fagid

(2) sHvEATES STy @ fagia

(3) Herwo &1 fagia

(4) Yoo = fagi

[Question ID = 141][Question Description = $17_Social Science_Q081]
1. 1 [Option ID = 561]
2. 2 [Option ID = 562]
3. 3 [Option ID = 563]
4. 4 [Option ID = 564]

52)
Consider the following statements (A) and (B) and choose the appropriate option.

(A) Social Science curricular materials incorporate local contents, they provide scope
for teachers to use local resources in the class.

(B) People from different regions and social groups relate to social science when contents
related to local area find space.

Options :

(1) Both (A) and (B) are true.
(2) Both (A) and (B) are false.
(3)  (A)is true but (B) is false.
(4) (A) is false, (B) is true.

Trfafad w91 (A) iR (B) W fF=R Sifse 21 Suges fahed 1 =47 whife |
(A) s/ grafser fase gt amfEt e faea-awgal w5 gafee wdl € 3 el F
foTe el H TIFE SO % STE Y STEE WeH Hdl € |
(B) Tom-Torm &t =T wrfsres Tel § o1 aret @ wrfoes fagm & aft S[e U € S s
&3 | Hefyg fava-axgei #1 e faedt €1
et faskey ﬂef -
(1) (A) &I (B) <1 wel &1
(2) (A) iR (B) gFi TTed £
(3) (A) H&l T A (B) TeAd B
(4) (A) TTed & QA (B) W& 7
1[Q:J?;:t?; |||3 =516 :]2][Question Description = S17_Social Science_Q082]
2. 2 [Option ID = 566]

3. 3 [Option ID = 567]
4. 4 [Option ID = 568]

53)



Read the statements (A) and (R) and choose the appropriate option.

Assertion (A) : Thematic approaches help in student’s understanding of societal issuer
better.

Reason (R) : Breaking the boundaries of social sciences and use of plurality of
approaches help to develop theme-based social science curriculum.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A)is true but (R) is false.

(4) Both (A) and (R) are false.

freferfaa swemt (A) @R (R) 1 ufeu den 3uge fasmeq 1 =29 ifs)
T (A) : THITSF G i ST &1 e SiK SURTHI o Siehl o ST, oA9 (fimfes)
g fomm wrea=ai i fomrfaa e § weraa & &
WHET (R) : F2AWH (AHfesk) urm faenfeli &t amfss amal 1 sgat &9 4 guge |
HEdl Ll B |
(1) (A) 3R (R) S W&l &, 3 (A) 1 (R) Tl ST 6l 2 |
(2) (A) 3R (R) 2 W@l €, ofe (A) FT (R) T& =me 6 # ¢
(3) (A) W&l g, AT (R) Terd &)
4) (A) $iR (R) 1 7o £
1[Q:1.E=;titgn |I|; =516 :]3][Question Description = $17_Social Science_Q083]
2. 2 [Option ID = 570]

3. 3 [Option ID = 571]
4. 4 [Option ID = 572]

54)
Why illustrations and photographs in a social science textbook are important ?
(A) To make the look of the book appealing and attractive
(B) They help children visualize and connect to a situation even if they have not
experienced it
(C) They are self-explanatory and reduce curricular burden.
(D) They motivate students that they can work with texts in the textbooks easily
Options :

(1) (A) only

(2) (B) and (C) only
(3)  (B), (O) and (D) only
(4)  (A), (O and (D) only



grifsres famm 1 greagsrs § oo oiw fosr i geag €2
(A) Y& FI AAFYF i T femm & fou

(B) 9 &=l ! SHedAl A SR 3 frufq & wy oft S o T i © e 3 egvd o
A fmn 2

(C) o T@a: ¥R § o7d: e 9R &1 &5 & © |
(D) & forenfefai =t Ufd o € 6 9 sart 9 wresgsas # fou gl w %W % g €

farene -

(1) @ (A)

(2) e (B) ¥R (C)
(3) e (B), (C) ¥R (D)

(4) = (A), (O) R (D)

[Question ID = 144][Question Description = S17_Social Science_Q084]
1 [Option ID = 573]
2 [Option ID = 574]
3 [Option ID = 575]
4 [Option ID = 576]

A W N -

55)
Which of the following gives best explanations for doing project work in social science ?

(A) It helps teacher to focus on some parts of the syllabus as students can cover certain
themes through project.

(B) Students develop independent thinking and working habits
(C€) It develops students” reading skill
(D) It gives freedom to students to construct their own arguments

Options :
(1) (A) and (B)
(2) (B) and (C)
(3)  (A) and (D)
(4 (B), (€) and (D)



frefafad & @ 9 9 w9 gae-fagm @ 9fedem &8 (999 596) F3 5 9% ey Fl

(A) = fonerap 1 Ty F Fo fowdl m Ffae 0 § usg Fa @ Hifs o g9 fav-ag
TTSTeR. o ST T 2T Hehd © |

(B) BT Tds U qe Hriyone fasmfad & §

(C) ¥ BHEI F TSIV 1 foehlad Fia T

(D) T2 B I 219 ek TR0 3 o T o e

fawey :

(1) (A) @41 (B)

(2)  (B) @& (C)

(3) (A) @ (D)

(4 (B), (C) 5= (D)

[Question ID = 145][Question Description = S17_Social Science_Q085]
1. 1 [Option ID = 577]
2. 2 [Option ID = 578]
3. 3 [Option ID = 579]
4. 4 [Option ID = 580]
56)
Which of the following questions assess the conceptual understanding of students ?
(A) What is resource ? Classify resource on the basis of ownership.
(B) What is Finance Commission ? Discuss the main functions of the state finance
commission.
(C) What were the social evils that degraded the status of Indian women in the past ?
(D) Describe the nature and impact of globalisation.

Options
(1) (A), (B) and (C)
(2)  (B), (C) and (D)



Frreferfed & 9 i 9 e fornfeli =1 dycrd sauromeTs g 1 ke Hid & ?
(A) HEHF T 27 WHE ok SHR G HHYA] 1 FHL] Hife |

(B) for e €7 o fog FHH & T T 9 T9] Hife |

(C) & Fmfsis 9usdl F &t off fei e d vrdta afgensii @ @ fr oo on)
(D) Gresiifaerar &1 Wehfa & 9oE =t =ame wifa )

e :

(1) (&), (B) 3R ()
(2)  (B), (O ¥R (D)
(3) (A), (O) ¥R (D)
(4)  (A), (B) ¥R (D)

[Question ID = 146][Question Description = $S17_Social Science_Q086]

A WN =

1 [Option ID = 581]
2 [Option ID = 582]
3 [Option ID = 583]
4 [Option ID = 584]

57)

Which of the following may be appropriate for continuous and comprehensive
evaluation ?

(A) Carry out formal and informal observations in class
(B) Adopt learner centered methods

(€) Conduct frequent pen and paper tests

(D) Facilitate project and inquiry based methods

Opﬁnns :

(1)  Only (A)

(2) Only (A) and (B)

(3) OIﬂY (A), (B) and (C
(4)  Only (A), (B) and (D)



Trfarfea 5 | 9 Had ud =29 gedisd & foru 39 8 Tehd 87
(A) e H Ui AR SETEie Aaeend Al

(B)  aAfermeeRal shfga faferl =1 sromm

(C) &R HeM (U) AR AT (YR) &0l o AT HE

(D) fEsE ofi site emenfa fafemi o werrm &

oo -

(1) e (A)

(2) e (A) R (B)
(3) e (A), (B) R (C)
(4) = (A), (B) R (D)

[Question ID = 147][Question Description = $S17_Social Science_Q087]
1 [Option ID = 585]
2 [Option ID = 586]
3 [Option ID = 587]
4 [Option ID = 588]

AN w N -

58)

Which of the following may be followed to develop evaluation procedures according to
the RTE Act 2009 ?

(A) Consideration of constitutional values
(B) Punctuality of the students

(C) All round development of the child
(D) Provide opportunities for exploration

Opﬁnns :

(1)  Only (A) and (B)

(2) Only (B) and ( )

(3) OIﬂY (B), (C) and (D)
(4)  Only (A), (C) and (D)



ARAE TR 2009 F FTHR GeAR Ykl &1 faswfad w & fom Feafafas § 9 frgem

Fae (B), (C) 3 (D)
4) FEA (A), (O ¥R (D)
[Question ID = 148][Question Description = S17_Social Science_Q088]
1. 1 [Option ID = 589]
2. 2 [Option ID = 590]

3. 3 [Option ID = 591]
4. 4 [Option ID = 592]

59 i - . . £
) Why is our environment changmg 77

This question attempts to assess students ability to :
(1) Generalise

(2) Hypothesise

(3) Extrapolate

(4) Reason

" gRT gEteRoT SR Fee @ § 2"

T WA B AT T AT HA T |
(1) ETEROTERT/ =R

(2) UfEreg fmio

(3) T=rd e

(4) = U

[Question ID = 149][Question Description = $S17_Social Science_Q089]
1. 1 [Option ID = 593]
2. 2 [Option ID = 594]
3. 3 [Option ID = 595]
4. 4 [Option ID = 596]

60)



Students portfolios are used mainly to assess

(A) important contributions of a student over the whole year as part of his or her learning,.
(B) marks scored by students in different subjects in a particular term.

(C) student’s participation in extra-curricular activities inside and outside the institution.

Options :

Feremell Ty (dEEIer) F SR gEE: _ #7ishA & ford g 2
(A) Ternefl & HER o Hewoqul ANl 1 59,/ SHeRT SATFTH = 90 i TE
(B) = faue w1 # fafim fawai # famnef gru sifsm oiei =01

(C) HEIM % 3iey iR argt IS fafafedi # faenedf = wewnfia =i

5

(1) = (A)

(2) (A) #R (B) &l
(3) (A) ¥R (©)TH
(4) (&), (B) ¥R ()

[Question ID = 150][Question Description = S17_Social Science_Q090]
1. 1 [Option ID = 597]
2. 2 [Option ID = 598]
3. 3 [Option ID = 599]
4. 4 [Option ID = 600]

Topic:- HIN_Q91-99_L1_P2_CTET

1)



e foT 7T =097 Rt Ugeht U9 T U9 oAl ST ol eIt |

e GERfd | 2al uier fodlt €, e wur sfaer 81 stot Simedi § sHenT HIe S ekl
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T HEHTd 1 aeIR T Tk arell 9%g THe o & | U 999 98 9, 56 (edl & "eH §
T Yearl Ea Gl Sl o | SATRREt 59 SR H @ wenedl o fau 55 M | 35 9
F AfuerfE 7 Ferrrl #1 FHieAgd #1 UHed gu oIy Yaensierl 1 UiEd o aR faa)
ofd guF Fed T T 1 e FE g S @ 1 st dfem § famre o S aife #)
SIS %l Wof iieh HE&hid W el 2rdl S Wl 8| AN Tk shell HIEAH] o HHIS #hi G 6
o1 3 & | oft Fr e & | oo feremfadi o Tew e fen §1 o e wh Srden <t
B, T 9% AArafiE w21

STERTTETYT o SRl = ek swensll & 9fd o791 JieH o4 faan?
(1) e el i FHT |

(2) ek Herel o o gEgE fHu

(3) ek Herrhrl sl GE A

(4) @ HeERRl FI BISAEA! I HHA

[Question ID = 181][Question Description = S17_Hindi Content/Pedagogy_Q091]
1. 1 [Option ID = 721]
2. 2 [Option ID = 722]
3. 3 [Option ID = 723]
4. 4 [Option ID = 724]

2)



e foT 7T =097 Rt Ugeht U9 T U9 oAl ST ol eIt |

e GERfd | 2al uier fodlt €, e wur sfaer 81 stot Simedi § sHenT HIe S ekl
1 8 =& weft 1 o B 2OR S9 H A YR FI HETC § S UH-GEL I TWH § | o F wEneff
T HEHTd 1 aeIR T Tk arell 9%g THe o & | U 999 98 9, 56 (edl & "eH §
T Yearl Ea Gl Sl o | SATRREt 59 SR H @ wenedl o fau 55 M | 35 9
F AfuerfE 7 Ferrrl #1 FHieAgd #1 UHed gu oIy Yaensierl 1 UiEd o aR faa)
ofd guF Fed T T 1 e FE g S @ 1 st dfem § famre o S aife #)
SIS %l Wof iieh HE&hid W el 2rdl S Wl 8| AN Tk shell HIEAH] o HHIS #hi G 6
TUIYE % &3 H off g e § 1 et fasmfa w men e e §1 e wen g g <ot
B, T 9% AArafiE w21

‘ISR i faeh arelt g’ | @ Sifigr @2

(1) fFe s 5 ae

(2) HTfEe SR %

(3) Hell § B 9l yaeiE

(4) UEHT H @R TS 9
[Question ID = 182][Question Description = S17_Hindi Content/Pedagogy_Q092]
1. 1 [Option ID = 725]
2. 2 [Option ID = 726]

3. 3 [Option ID = 727]
4. 4 [Option ID = 728]

3)



e foT 7T =097 Rt Ugeht U9 T U9 ohT ST o it |

e GERfa | 2arl uler fodl €, e wur sfae 81 stoet el § sHehT He S ekl
1 8 =& weft 1 o B 2R S9 H A YR F1 HETC S UH-gEL I WH E | o F@ e
T Hepfa 1 aeIR 1 T arell 9%g THe o § | U 999 98 9, 56 {(ed1 & "egH §
T Yearl gd G Sl off | SATRREmt 59 SR H @i wenedl o fau 55 M | 35 g
F Afeemfi 7 Fererl #1 FHiegd #1 Uued gu oIy Yaensiern 1 ufEd o @R faan)
819 9 oge T B 1 el & g S e 1 seteifes e # famr &t s stfie @)
SIS %l Wof iieh HEh(d W gl 2rdl ST Wl 8| AR Tiich shell HIEAH] = HHIS ohi 1]
THTYE % & H off w1 o § 1 Terifaer fasmfai o mew e e § 1 @i e g areen <ot
?, T 9% AArafiE v 21

Tleh—EEehid 1 Sfderd &=l el 141 872

(1) =faerm =i g § 39 Scorg e ¢

(2) =R e 3faem foeer o et foRen i & |
(3) gl g gisd &1 S 2

(4) sfoemEsr g0 giea T

[Question ID = 183][Question Description = S17_Hindi Content/Pedagogy_Q093]
1. 1 [Option ID = 729]
2. 2 [Option ID = 730]
3. 3 [Option ID = 731]
4. 4 [Option ID = 732]

4)



e foT 7T =097 Rt Ugeht U9 T U9 oAl ST ol eIt |

e GERfd | 2al uier fodlt €, e wur sfaer 81 stot Simedi § sHenT HIe S ekl
1 8 =& weft 1 o B 2OR S9 H A YR FI HETC § S UH-GEL I TWH § | o F wEneff
T HEHTd 1 aeIR T Tk arell 9%g THe o & | U 999 98 9, 56 (edl & "eH §
T Yearl Ea Gl Sl o | SATRREt 59 SR H @ wenedl o fau 55 M | 35 9
F AfuerfE 7 Ferrrl #1 FHieAgd #1 UHed gu oIy Yaensierl 1 UiEd o aR faa)
ofd guF Fed T T 1 e FE g S @ 1 st dfem § famre o S aife #)
SIS %l Wof iieh HE&hid W el 2rdl S Wl 8| AN Tk shell HIEAH] o HHIS #hi G 6
o1 3 & | oft Fr e & | oo feremfadi o Tew e fen §1 o e wh Srden <t
B, T 9% AArafiE w21

* gyoet el H o Ter A 9 | Wi g o e e § 2
(1) Yo &k herl U ufifey | g Lt T

(2) S-S AT h HTER

(3) Fad A & e H |

(4) Hae YA &F Hl ARk el

[Question ID = 184][Question Description = S17_Hindi Content/Pedagogy_Q094]
1. 1 [Option ID = 733]
2. 2 [Option ID = 734]
3. 3 [Option ID = 735]
4. 4 [Option ID = 736]

5)



e foT 7T =097 Rt Ugeht U9 T U9 ohT ST o it |

e GERfa | 2arl uler fodl €, e wur sfae 81 stoet el § sHehT He S ekl
1 8 =& weft 1 o B 2R S9 H A YR F1 HETC S UH-gEL I WH E | o F@ e
T Hepfa 1 aeIR 1 T arell 9%g THe o § | U 999 98 9, 56 {(ed1 & "egH §
T Yearl Ea Gl Sl o | SATRREt 59 SR H @ wenedl o fau 55 M | 35 9
F AfuerfE 7 Ferrrl #1 FHieAgd #1 UHed gu oIy Yaensierl 1 UiEd o aR faa)
ofd guF Fed T T 1 e FE g S @ 1 st dfem § famre o S aife #)
SIS %l Wof iieh HE&hid W el 2rdl S Wl 8| AN Tk shell HIEAH] o HHIS #hi G 6
T % & | oft S R ¥ | oo faremfadi W en e e § 1 o wen wh Srden S
B, T 9% AArafiE w21

HEl U Fl 9gTA di -

(1) Arsipet Ifeal siga 2afrss g =i+ oFm & |

(2) I HeAU TH-GH H YT TE ¢ |

(3)  mepEm % sifeRfEl ¥ gaemsieral 1 afted =l g
(4) ot Hifem § fasme = S sfuw §
1[Q:J'E=;titgn |||[)) =713£;]5][Question Description = S17_Hindi Content/Pedagogy_Q095]
2. 2 [Option ID - 736]

3. 3 [Option ID = 739]
4. 4 [Option ID = 740]

6)



e foT 7T =097 Rt Ugeht U9 T U9 oAl ST ol eIt |

e GERfd | 2al uier fodlt €, e wur sfaer 81 stot Simedi § sHenT HIe S ekl
1 8 =& weft 1 o B 2OR S9 H A YR FI HETC § S UH-GEL I TWH § | o F wEneff
T HEHTd 1 aeIR T Tk arell 9%g THe o & | U 999 98 9, 56 (edl & "eH §
T Yearl Ea Gl Sl o | SATRREt 59 SR H @ wenedl o fau 55 M | 35 9
F AfuerfE 7 Ferrrl #1 FHieAgd #1 UHed gu oIy Yaensierl 1 UiEd o aR faa)
ofd guF Fed T T 1 e FE g S @ 1 st dfem § famre o S aife #)
SIS %l Wof iieh HE&hid W el 2rdl S Wl 8| AN Tk shell HIEAH] o HHIS #hi G 6
TUIYE % &3 H off g e § 1 et fasmfa w men e e §1 e wen g g <ot
B, T 9% AArafiE w21

e H R HER e W Seoid gl ¢ TSHeh g1 Wik shensll i WER SER g2
(1) efafasm
(2) e
(3) fred
(4) HHER 9A
[Question ID = 186][Question Description = S17_Hindi Content/Pedagogy_Q096]
1. 1 [Option ID = 741]
2. 2 [Option ID = 742]

3. 3 [Option ID = 743]
4. 4 [Option ID = 744]

7)

== foU 7T =097 Rt Ugeht U T U9 ol Sl o il |
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TuTFE o &3 | oft g e & | Terifaes faemfadi w ew e fhen ¥ & wenad Sren <t
?, 9 ST eI uidd B

frefafaa o od =1 gfie @ fu= visg &t vgam &40
(1)  SATHETEi

(2) '
(3) hfemai
(4) o



[Question ID = 187][Question Description = S17_Hindi Content/Pedagogy_Q097]
1. 1 [Option ID = 745]
2. 2 [Option ID = 746]
3. 3 [Option ID = 747]
4. 4 [Option ID = 748]

8)

e foT 7T =097 Rt Ugeht U9 T U9 oAl ST ol eIt |

e GERfd H 2al uler fodl €, e wur sfae 81 stot dimiedi § sHenT Hiem S ekl
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T HERTd o AR R Tk arell 9%g THe o § | U 999 98 91, 576 (el & "eH § i
T Yearl ga Gt Sl off | SATRRET 59 SR | @i Fonedl o foe 55y S | 39 9
F AfeemfE 7 Ferwrl #1 FHiSgd #1 UHed gu oIy YaeAsiern 1 UiEd o 9R faan)
ofd guF g T T el FH g S @ 21 gets dited # famrm o S atfe 2
SIS %l Wef &ieh H&h(d W el 2rdl S Wl 81 BN Tk shell HIEAH] o HHS #hi TS 6
T 3 & H oft s e & | oo feremfad ot ew e fen ¥ o e w6 Srden <t
B, T 9% AArafiE w21

‘TremfasE W oy E
(1) =

(2) fom

(3) =%

(4) =4

[Question ID = 188][Question Description = S17_Hindi Content/Pedagogy_Q098]
1. 1 [Option ID = 749]
2. 2 [Option ID = 750]
3. 3 [Option ID = 751]
4. 4 [Option ID = 752]

9)



e foT 7T =097 Rt Ugeht U9 T U9 oAl ST ol eIt |

e GERfd | 2al uier fodlt €, e wur sfaer 81 stot Simedi § sHenT HIe S ekl
1 8 =& weft 1 o B 2OR S9 H A YR FI HETC § S UH-GEL I TWH § | o F wEneff
T HEHTd 1 aeIR T Tk arell 9%g THe o & | U 999 98 9, 56 (edl & "eH §
T Yearl Ea Gl Sl o | SATRREt 59 SR H @ wenedl o fau 55 M | 35 9
F AfuerfE 7 Ferrrl #1 FHieAgd #1 UHed gu oIy Yaensierl 1 UiEd o aR faa)
ofd guF Fed T T 1 e FE g S @ 1 st dfem § famre o S aife #)
SIS %l Wof iieh HE&hid W el 2rdl S Wl 8| AN Tk shell HIEAH] o HHIS #hi G 6
TUIYE % &3 H off g e § 1 et fasmfa w men e e §1 e wen g g <ot
B, T 9% AArafiE w21

‘A el gl e ot & Yeifad ¥ e W e s wee §

(1) Frecafed = 2 )
I e s

(3) dCHIfEd Tl ¥ |
(4) HrcHifed Rl € |

[Question ID = 189][Question Description = S17_Hindi Content/Pedagogy_Q099]
1. 1 [Option ID = 753]
2. 2 [Option ID = 754]
3. 3 [Option ID = 755]
4. 4 [Option ID = 756]

Topic:- HIN_Q100-105_L1_P2_CTET
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[Question ID = 190][Question Description = S17_Hindi Content/Pedagogy_Q100]
1. 1 [Option ID = 757]
2. 2 [Option ID = 758]
3. 3 [Option ID = 759]
4. 4 [Option ID = 760]



2)

e fou 7T FHreAin it Ugeht g8 T YUY ol S ol |
T 31U oS 534 & Hat & |
S-SR =1 SR e,

<Al - faefeat gem ot el -,
A ST 3T 2 e H v F |

Y U FE -39 &% Hak & |

g & Ak Tl TS STHT,

al! Faaad 331, &1 foo, Jue wF |
¢ Tl 7 1 gt R

‘T =R gy wiEl -

et AFE T e & fhar =i |

‘e A gfy ol Fa-w e stfvere gan 87

(1) 99 49"
(2) U
(3) dreded
(4) ufeR =

[Question ID = 191][Question Description = S17_Hindi Content/Pedagogy_Q101]
1. 1 [Option ID = 761]
2. 2 [Option ID = 762]
3. 3 [Option ID = 763]
4. 4 [Option ID = 764]
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[Question ID = 192][Question Description = S17_Hindi Content/Pedagogy_Q102]
1. 1 [Option ID = 765]
2. 2 [Option ID = 766]
3. 3 [Option ID = 767]
4. 4 [Option ID = 768]
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[Question ID = 193][Question Description = S17_Hindi Content/Pedagogy_Q103]
1. 1 [Option ID = 769]
2. 2 [Option ID = 770]
3. 3 [Option ID = 771]
4. 4 [Option ID = 772]
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[Question ID = 194][Question Description = S17_Hindi Content/Pedagogy_Q104]
1. 1 [Option ID = 773]
2. 2 [Option ID = 774]
3. 3 [Option ID = 775]
4. 4 [Option ID = 776]
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[Question ID = 195][Question Description = S17_Hindi Content/Pedagogy_Q105]
1. 1 [Option ID = 777]
2. 2 [Option ID = 778]
3. 3 [Option ID = 779]
4. 4 [Option ID = 780]

Topic:- HIN_Q106-120_L1_P2_CTET
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[Question ID = 196][Question Description = S17_Hindi Content/Pedagogy_Q106]
1. 1 [Option ID = 781]
2. 2 [Option ID = 782]
3. 3 [Option ID = 783]
4. 4 [Option ID = 784]
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[Question ID = 197][Question Description = S17_Hindi Content/Pedagogy_Q107]
1. 1 [Option ID = 785]
2. 2 [Option ID = 786]
3. 3 [Option ID = 787]
4. 4 [Option ID = 788]
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[Question ID = 198][Question Description = S17_Hindi Content/Pedagogy_Q108]
1. 1 [Option ID = 789]
2. 2 [Option ID = 790]
3. 3 [Option ID = 791]
4. 4 [Option ID = 792]

4)

g  siielt 9 Al WU qERT % wnl A eh 9 e we @ e & wefy <A
YREAfEh w9 ST 81 WIS F 31 € wERl i fee w9 H S S 2

(1) ISt e =i siferst

2) A T ammd ¥

(3) Ffgat

(4) 2 g ifear &

[Question ID = 199][Question Description = S17_Hindi Content/Pedagogy_Q109]
1. 1 [Option ID = 793]
2. 2 [Option ID = 794]
3. 3 [Option ID = 795]
4. 4 [Option ID = 796]
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[Question ID = 200][Question Description = S17_Hindi Content/Pedagogy_Q110]
1. 1 [Option ID = 797]
2. 2 [Option ID = 798]
3. 3 [Option ID = 799]
4. 4 [Option ID = 800]
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[Question ID = 201][Question Description = S17_Hindi Content/Pedagogy_Q111]
1. 1 [Option ID = 801]
2. 2 [Option ID = 802]
3. 3 [Option ID = 803]
4. 4 [Option ID = 804]
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[Question ID = 202][Question Description = S17_Hindi Content/Pedagogy_Q112]
1. 1.[Option ID = 805]
2. 2 [Option ID = 806]

3. 3 [Option ID = 807]
4. 4 [Option ID = 808]
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[Question ID = 203][Question Description = S17_Hindi Content/Pedagogy_Q113]
1. 1 [Option ID = 809]
2. 2 [Option ID = 810]
3. 3 [Option ID = 811]
4. 4 [Option ID = 812]
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[Question ID = 204][Question Description = S17_Hindi Content/Pedagogy_Q114]
1. 1 [Option ID = 813]
2. 2 [Option ID = 814]
3. 3 [Option ID = 815]
4. 4 [Option ID = 816]
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[Question ID = 205][Question Description = S17_Hindi Content/Pedagogy_Q115]
1. 1 [Option ID = 817]
2. 2 [Option ID = 818]
3. 3 [Option ID = 819]
4. 4 [Option ID = 820]
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[Question ID = 206][Question Description = S17_Hindi Content/Pedagogy_Q116]
1. 1 [Option ID = 821]
2. 2 [Option ID = 822]
3. 3 [Option ID = 823]
4. 4 [Option ID = 824]
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[Question ID = 207][Question Description = S17_Hindi Content/Pedagogy_Q117]
1. 1 [Option ID = 825]
2. 2 [Option ID = 826]
3. 3 [Option ID = 827]
4. 4 [Option ID = 828]
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[Question ID = 208][Question Description = S17_Hindi Content/Pedagogy_Q118]
1. 1 [Option ID = 829]
2. 2 [Option ID = 830]
3. 3 [Option ID = 831]
4. 4 [Option ID = 832]
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[Question ID = 209][Question Description = S17_Hindi Content/Pedagogy_Q119]
1. 1 [Option ID = 833]
2. 2 [Option ID = 834]
3. 3 [Option ID = 835]
4. 4 [Option ID = 836]
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[Question ID = 210][Question Description = S17_Hindi Content/Pedagogy_Q120]
1. 1 [Option ID = 837]
2. 2 [Option ID = 838]

3. 3 [Option ID = 839]
4. 4 [Option ID = 840]

Topic:- ENG_Q121-128_L2_P2_CTET

1)



Read the passage given below and answer the question that follow :

Have you heard someone sing, “Happy Birthday to you--—'? If so, you are hardly alone.

(1)

It is perhaps the most familiar song in the English language with dozens of versions
sung around the world in many other languages. Millions of people sing and enjoy
the song every year. But the song has had a checkered history. While historians and
musicologists agree that its origins are clear- it dates back to the late 19th
century-what isn’t known is how the song happened to take on the form by which
it is known today.

The ownership over the song has been contentious for the best part of four decades.
This is, perhaps, not surprising. There is a huge financial impetus to lay ¢laim to it.
There’s lots and lots of money involved.

The song’s origin can be traced back to two music-loving sisters in Louisville,
Kentucky, named Patty and Mildred Hill. Patty was a school teacher back in 1893
and Mildred was an accomplished pianist. Patty’s daily work involved teaching
songs to young children, patty became interested in developing the kind of songs
that children would find stimulating but would be simple enough for them to learn.
Patty enlisted Mildred to help create new compositions, which patty would test on
her students.

What began as “Good morning to all” appeared in the 1893 volume “ Song stories
for the kindergarten.” along side other simple ditties. The Hill Sisters’ songs were
seemingly a big hit with children, as the melody’s popularity suggests.

In 1912, the song appeared in a volume by a firm, though without Patty and Mildred
Hill’s approval. This version contained the alternative birthday lyrics. By this time
Mildred Hill had died and the rights to their work had passed on to their sister,
Jessica, Jessica and Patty pursued legal action and fina]]y won the case.

The tune of the jingle ‘Happy Birthday * was published in :

(1)
(2)
(3)
(4)

1893

late 20th century
1924

early 19th century

[Question ID = 301][Question Description = S17_English Content/Pedagogy Q121]
1.1 [Option ID = 1201]
2. 2 [Option ID = 1202]
3. 3 [Option ID = 1203]
4. 4 [Option ID = 1204]
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Read the passage given below and answer the question that follow :

Have you heard someone sing, “Happy Birthday to you--—'? If so, you are hardly alone.

(1)

It is perhaps the most familiar song in the English language with dozens of versions
sung around the world in many other languages. Millions of people sing and enjoy
the song every year. But the song has had a checkered history. While historians and
musicologists agree that its origins are clear- it dates back to the late 19th
century-what isn’t known is how the song happened to take on the form by which
it is known today.

The ownership over the song has been contentious for the best part of four decades.
This is, perhaps, not surprising. There is a huge financial impetus to lay ¢laim to it.
There’s lots and lots of money involved.

The song’s origin can be traced back to two music-loving sisters in Louisville,
Kentucky, named Patty and Mildred Hill. Patty was a school teacher back in 1893
and Mildred was an accomplished pianist. Patty’s daily work involved teaching
songs to young children, patty became interested in developing the kind of songs
that children would find stimulating but would be simple enough for them to learn.
Patty enlisted Mildred to help create new compositions, which patty would test on
her students.

What began as “Good morning to all” appeared in the 1893 volume “ Song stories
for the kindergarten.” along side other simple ditties. The Hill Sisters’ songs were
seemingly a big hit with children, as the melody’s popularity suggests.

In 1912, the song appeared in a volume by a firm, though without Patty and Mildred
Hill’s approval. This version contained the alternative birthday lyrics. By this time
Mildred Hill had died and the rights to their work had passed on to their sister,
Jessica, Jessica and Patty pursued legal action and fina]]y won the case.

Patty Hill was a in 1893,
(1) teacher

(2) pianist

(3) song composer

(4) song publisher

[Question ID = 302][Question Description = S17_English Content/Pedagogy_Q122]
1.1 [Option ID = 1205]
2. 2 [Option ID = 1206]
3. 3 [Option ID = 1207]
4. 4 [Option ID = 1208]

3)



Read the passage given below and answer the question that follow :

Have you heard someone sing, “Happy Birthday to you--—'? If so, you are hardly alone.

(1)

It is perhaps the most familiar song in the English language with dozens of versions
sung around the world in many other languages. Millions of people sing and enjoy
the song every year. But the song has had a checkered history. While historians and
musicologists agree that its origins are clear- it dates back to the late 19th
century-what isn’t known is how the song happened to take on the form by which
it is known today.

The ownership over the song has been contentious for the best part of four decades.
This is, perhaps, not surprising. There is a huge financial impetus to lay ¢laim to it.
There’s lots and lots of money involved.

The song’s origin can be traced back to two music-loving sisters in Louisville,
Kentucky, named Patty and Mildred Hill. Patty was a school teacher back in 1893
and Mildred was an accomplished pianist. Patty’s daily work involved teaching
songs to young children, patty became interested in developing the kind of songs
that children would find stimulating but would be simple enough for them to learn.
Patty enlisted Mildred to help create new compositions, which patty would test on
her students.

What began as “Good morning to all” appeared in the 1893 volume “ Song stories
for the kindergarten.” along side other simple ditties. The Hill Sisters’ songs were
seemingly a big hit with children, as the melody’s popularity suggests.

In 1912, the song appeared in a volume by a firm, though without Patty and Mildred
Hill’s approval. This version contained the alternative birthday lyrics. By this time
Mildred Hill had died and the rights to their work had passed on to their sister,
Jessica, Jessica and Patty pursued legal action and fina]]y won the case.

It is ironic that the author of the words ‘Happy Birthday” song is not well known
because :

(1)

(

(

2)
(3)
4)

life is unfair.
of complicated copyright laws.
the song is so popular.

of the money involved.

[Question ID = 303][Question Description = S17_English Content/Pedagogy_Q123]
1. 1 [Option ID = 1209]
2. 2 [Option ID = 1210]
3. 3 [Option ID =1211]
4. 4 [Option ID = 1212]
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Read the passage given below and answer the question that follow :

Have you heard someone sing, “Happy Birthday to you--—'? If so, you are hardly alone.

(1)

It is perhaps the most familiar song in the English language with dozens of versions
sung around the world in many other languages. Millions of people sing and enjoy
the song every year. But the song has had a checkered history. While historians and
musicologists agree that its origins are clear- it dates back to the late 19th
century-what isn’t known is how the song happened to take on the form by which
it is known today.

The ownership over the song has been contentious for the best part of four decades.
This is, perhaps, not surprising. There is a huge financial impetus to lay ¢laim to it.
There’s lots and lots of money involved.

The song’s origin can be traced back to two music-loving sisters in Louisville,
Kentucky, named Patty and Mildred Hill. Patty was a school teacher back in 1893
and Mildred was an accomplished pianist. Patty’s daily work involved teaching
songs to young children, patty became interested in developing the kind of songs
that children would find stimulating but would be simple enough for them to learn.
Patty enlisted Mildred to help create new compositions, which patty would test on
her students.

What began as “Good morning to all” appeared in the 1893 volume “ Song stories
for the kindergarten.” along side other simple ditties. The Hill Sisters’ songs were
seemingly a big hit with children, as the melody’s popularity suggests.

In 1912, the song appeared in a volume by a firm, though without Patty and Mildred
Hill’s approval. This version contained the alternative birthday lyrics. By this time
Mildred Hill had died and the rights to their work had passed on to their sister,
Jessica, Jessica and Patty pursued legal action and fina]]y won the case.

How did the lyrics of “Happy Birthday” become so popular in 1893 ?

(1)
(2)
(3)
(4)

Its words were very simple.

The author of the tune had passed away.
The school children loved the song.

The tune was published in a song book.

[Question ID = 304][Question Description = S17_English Content/Pedagogy_Q124]
1.1 [Option ID = 1213]
2. 2 [Option ID = 1214]
3. 3 [Option ID = 1215]
4. 4 [Option ID = 1216]
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Read the passage given below and answer the question that follow :

Have you heard someone sing, “Happy Birthday to you--—'? If so, you are hardly alone.

(1)

It is perhaps the most familiar song in the English language with dozens of versions
sung around the world in many other languages. Millions of people sing and enjoy
the song every year. But the song has had a checkered history. While historians and
musicologists agree that its origins are clear- it dates back to the late 19th
century-what isn’t known is how the song happened to take on the form by which
it is known today.

The ownership over the song has been contentious for the best part of four decades.
This is, perhaps, not surprising. There is a huge financial impetus to lay ¢laim to it.
There’s lots and lots of money involved.

The song’s origin can be traced back to two music-loving sisters in Louisville,
Kentucky, named Patty and Mildred Hill. Patty was a school teacher back in 1893
and Mildred was an accomplished pianist. Patty’s daily work involved teaching
songs to young children, patty became interested in developing the kind of songs
that children would find stimulating but would be simple enough for them to learn.
Patty enlisted Mildred to help create new compositions, which patty would test on
her students.

What began as “Good morning to all” appeared in the 1893 volume “ Song stories
for the kindergarten.” along side other simple ditties. The Hill Sisters’ songs were
seemingly a big hit with children, as the melody’s popularity suggests.

In 1912, the song appeared in a volume by a firm, though without Patty and Mildred
Hill’s approval. This version contained the alternative birthday lyrics. By this time
Mildred Hill had died and the rights to their work had passed on to their sister,
Jessica, Jessica and Patty pursued legal action and fina]]y won the case.

Patty wanted to develop songs that were for her school students.

(1)
(2)
(3)
(4)

easy to learn
patriotic

based on film songs
based on folk songs

[Question ID = 305][Question Description = S17_English Content/Pedagogy_Q125]
1. 1 [Option ID = 1217]
2. 2 [Option ID = 1218]
3. 3 [Option ID = 1219]
4. 4 [Option ID = 1220]
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Read the passage given below and answer the question that follow :

Have you heard someone sing, “Happy Birthday to you--—'? If so, you are hardly alone.

(1)

It is perhaps the most familiar song in the English language with dozens of versions
sung around the world in many other languages. Millions of people sing and enjoy
the song every year. But the song has had a checkered history. While historians and
musicologists agree that its origins are clear- it dates back to the late 19th
century-what isn’t known is how the song happened to take on the form by which
it is known today.

The ownership over the song has been contentious for the best part of four decades.
This is, perhaps, not surprising. There is a huge financial impetus to lay ¢laim to it.
There’s lots and lots of money involved.

The song’s origin can be traced back to two music-loving sisters in Louisville,
Kentucky, named Patty and Mildred Hill. Patty was a school teacher back in 1893
and Mildred was an accomplished pianist. Patty’s daily work involved teaching
songs to young children, patty became interested in developing the kind of songs
that children would find stimulating but would be simple enough for them to learn.
Patty enlisted Mildred to help create new compositions, which patty would test on
her students.

What began as “Good morning to all” appeared in the 1893 volume “ Song stories
for the kindergarten.” along side other simple ditties. The Hill Sisters’ songs were
seemingly a big hit with children, as the melody’s popularity suggests.

In 1912, the song appeared in a volume by a firm, though without Patty and Mildred
Hill’s approval. This version contained the alternative birthday lyrics. By this time
Mildred Hill had died and the rights to their work had passed on to their sister,
Jessica, Jessica and Patty pursued legal action and fina]]y won the case.

Read the following sentences,

(A)
(B
(1
(2
(3

(4)

The two sisters who wrote ‘Song stories for the kindergarten” were school teachers’
Children loved the Hill Sisters” songs.

(A) is true and (B) is false

(A) is false and (B) is true

Both (A) and (B) are true

Both (A) and (B) are false

[Question ID = 306][Question Description = S17_English Content/Pedagogy_Q126]
1. 1 [Option ID =1221]
2. 2 [Option ID = 1222]
3. 3 [Option ID = 1223]
4. 4 [Option ID = 1224]
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Read the passage given below and answer the question that follow :

Have you heard someone sing, “Happy Birthday to you--—'? If so, you are hardly alone.

(1)

It is perhaps the most familiar song in the English language with dozens of versions
sung around the world in many other languages. Millions of people sing and enjoy
the song every year. But the song has had a checkered history. While historians and
musicologists agree that its origins are clear- it dates back to the late 19th
century-what isn’t known is how the song happened to take on the form by which
it is known today.

The ownership over the song has been contentious for the best part of four decades.
This is, perhaps, not surprising. There is a huge financial impetus to lay ¢laim to it.
There’s lots and lots of money involved.

The song’s origin can be traced back to two music-loving sisters in Louisville,
Kentucky, named Patty and Mildred Hill. Patty was a school teacher back in 1893
and Mildred was an accomplished pianist. Patty’s daily work involved teaching
songs to young children, patty became interested in developing the kind of songs
that children would find stimulating but would be simple enough for them to learn.
Patty enlisted Mildred to help create new compositions, which patty would test on
her students.

What began as “Good morning to all” appeared in the 1893 volume “ Song stories
for the kindergarten.” along side other simple ditties. The Hill Sisters’ songs were
seemingly a big hit with children, as the melody’s popularity suggests.

In 1912, the song appeared in a volume by a firm, though without Patty and Mildred
Hill’s approval. This version contained the alternative birthday lyrics. By this time
Mildred Hill had died and the rights to their work had passed on to their sister,
Jessica, Jessica and Patty pursued legal action and fina]]y won the case.

‘ditty as used in para 4 means

(1)
(2)
(3)
(4)

a skill

name of a flower

a musical instrument
a short song

[Question ID = 307][Question Description = S17_English Content/Pedagogy_Q127]
1.1 [Option ID = 1225]
2. 2 [Option ID = 1226]
3. 3 [Option ID = 1227]
4. 4 [Option ID = 1228]

8)



Read the passage given below and answer the question that follow :

Have you heard someone sing, “Happy Birthday to you--—'? If so, you are hardly alone.

(1)

It is perhaps the most familiar song in the English language with dozens of versions
sung around the world in many other languages. Millions of people sing and enjoy
the song every year. But the song has had a checkered history. While historians and
musicologists agree that its origins are clear- it dates back to the late 19th
century-what isn’t known is how the song happened to take on the form by which
it is known today.

The ownership over the song has been contentious for the best part of four decades.
This is, perhaps, not surprising. There is a huge financial impetus to lay ¢laim to it.
There’s lots and lots of money involved.

The song’s origin can be traced back to two music-loving sisters in Louisville,
Kentucky, named Patty and Mildred Hill. Patty was a school teacher back in 1893
and Mildred was an accomplished pianist. Patty’s daily work involved teaching
songs to young children, patty became interested in developing the kind of songs
that children would find stimulating but would be simple enough for them to learn.
Patty enlisted Mildred to help create new compositions, which patty would test on
her students.

What began as “Good morning to all” appeared in the 1893 volume “ Song stories
for the kindergarten.” along side other simple ditties. The Hill Sisters’ songs were
seemingly a big hit with children, as the melody’s popularity suggests.

In 1912, the song appeared in a volume by a firm, though without Patty and Mildred
Hill’s approval. This version contained the alternative birthday lyrics. By this time
Mildred Hill had died and the rights to their work had passed on to their sister,
Jessica, Jessica and Patty pursued legal action and fina]]y won the case.

‘impetus’ in para 2 is used as a/an :

(1)
(2)
(3)
(4)

verb
noun
adverb
adjective

[Question ID = 308][Question Description = S17_English Content/Pedagogy_Q128]
1. 1 [Option ID = 1229]
2. 2 [Option ID = 1230]
3. 3 [Option ID = 1231]
4. 4 [Option ID = 1232]

Topic:- ENG_Q129-135_L2_P2_CTET
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Read the passage given below and answer the question that follow :

(1) Facebook is a social network service and website, which was launched in 2004,
February by former- Harvard student of psychology, Mark Zuckerberg, and his three
college roommates and fellow students. He ran Facebook as one of his hobby projects
with some financial help from Eduardo Saverin. With its 900+million users, every
7.76™ person in the world has a Facebook account. It is the most visited page on the
internet. The most growing country on Facebook is Brazil.

(2) It became the world’s fastest growing company when it surpassed 500 million active
users in 2010. It became a global company producing millions in revenue, a lot of
larger media companies want to purchase it. Zuckerberg has always refused to sell
though some claim that an offer of $ 2 billion dollars was made.

(3) The idea behind Facebook is to make us feel connected all the time. However the
truth is quite different. Technology has made the fact of being alone seem like a
problem that needs solving. When young people are alone, even for a minute or
two, they feel need to connect, to get a facebook or on some other social network.
But in connecting online they end up feeling more isolated. Why ? Because by being
in constant connection, they lose the ability to feel satisfied with their own company.

(4) Facebook connects most of us to move closer to our friends and family, more than
we have ever been connected before. Yes, Facebook is a huge time sink. Many people
post useless stuff. And seeing too much of your friend’s life can make you jealous.
According to my friend Jane, because of lots of photos and information updates you
know what is happening with your friends all the time. It may lead to frustration
ultimately and you may end up feeling lonely. In fact, if you are lonely in real life,
you will be lonely online as well.

According to the passage, we should

(1) feel satisfied within our own self

(2) avoid using social network absolutely

(3) stay in constant touch with our friends online

(4) enjoy moments of loneliness in nature
[Question ID = 309][Question Description = S17_English Content/Pedagogy_Q129]
1. 1 [Option ID = 1233]
2. 2 [Option ID = 1234]

3. 3 [Option ID = 1235]
4. 4 [Option ID = 1236]

2)



Read the passage given below and answer the question that follow :

(1)

Facebook is a social network service and website, which was launched in 2004,
February by former- Harvard student of psychology, Mark Zuckerberg, and his three
college roommates and fellow students. He ran Facebook as one of his hobby projects
with some financial help from Eduardo Saverin. With its 900+million users, every
7.76tH person in the world has a Facebook account. It is the most visited page on the
mternet. The most growing country on Facebook is Brazil.

It became the world’s fastest growing company when it surpassed 500 million active
users in 2010. It became a global company pmdus:ing millions in revenue, a lot of
larger media companies want to purchase it. Zuckerberg has always refused to sell
though some claim that an offer of $ 2 billion dollars was made.

The idea behind Facebook is to make us feel connected all the time. However the
truth is quite different. Technology has made the fact of being alone seem like a
problem that needs solving. When young people are alone, even for a minute or
two, they feel need to connect, to get a facebook or on some other social network.
But in connecting online they end up feeling more isolated. Why ? Because by being
in constant connection, they lose the ability to feel satisfied with their own company.

Facebook connects most of us to move closer to our friends and family, more than
we have ever been connected before. Yes, Facebook is a huge time sink. Many people
post useless stuff. And seeing too much of your friend’s life can make you jealous.
According to my friend Jane, because of lots of photos and information updates you
know what is happening with your friends all the time. It may lead to frustration
ultimately and you may end up feeling lonely. In fact, if you are lonely in real life,
you will be lonely online as well.

Jane's attitude towards Facebook is :

(1)
(2)
(3)
(4)

hopeful
gullible
skeptical
thankful

[Question ID = 310][Question Description = S17_English Content/Pedagogy_Q130]
1. 1 [Option ID = 1237]
2. 2 [Option ID = 1238]
3. 3 [Option ID = 1239]
4. 4 [Option ID = 1240]

3)



Read the passage given below and answer the question that follow :

(1) Facebook is a social network service and website, which was launched in 2004,
February by former- Harvard student of psychology, Mark Zuckerberg, and his three
college roommates and fellow students. He ran Facebook as one of his hobby projects
with some financial help from Eduardo Saverin. With its 900+million users, every
7.76™ person in the world has a Facebook account. It is the most visited page on the
internet. The most growing country on Facebook is Brazil.

(2) It became the world’s fastest growing company when it surpassed 500 million active
users in 2010. It became a global company producing millions in revenue, a lot of
larger media companies want to purchase it. Zuckerberg has always refused to sell
though some claim that an offer of $ 2 billion dollars was made.

(3) The idea behind Facebook is to make us feel connected all the time. However the
truth is quite different. Technology has made the fact of being alone seem like a
problem that needs solving. When young people are alone, even for a minute or
two, they feel need to connect, to get a facebook or on some other social network.
But in connecting online they end up feeling more isolated. Why ? Because by being
in constant connection, they lose the ability to feel satisfied with their own company.

(4) Facebook connects most of us to move closer to our friends and family, more than
we have ever been connected before. Yes, Facebook is a huge time sink. Many people
post useless stuff. And seeing too much of your friend’s life can make you jealous.
According to my friend Jane, because of lots of photos and information updates you
know what is happening with your friends all the time. It may lead to frustration
ultimately and you may end up feeling lonely. In fact, if you are lonely in real life,
you will be lonely online as well.

The purpose of the passage is to :

(I) educate people.

(2) introduce Facebook.

(3) persuade people to join Facebook.

(4) inform people about Facebook’s revenue.

[Question ID = 311][Question Description = S17_English Content/Pedagogy_Q131]
1. 1 [Option ID = 1241]
2. 2 [Option ID = 1242]
3. 3 [Option ID = 1243]
4. 4 [Option ID = 1244]

4)



Read the passage given below and answer the question that follow :

(1)

Facebook is a social network service and website, which was launched in 2004,
February by former- Harvard student of psychology, Mark Zuckerberg, and his three
college roommates and fellow students. He ran Facebook as one of his hobby projects
with some financial help from Eduardo Saverin. With its 900+million users, every
7.76tH person in the world has a Facebook account. It is the most visited page on the
mternet. The most growing country on Facebook is Brazil.

It became the world’s fastest growing company when it surpassed 500 million active
users in 2010. It became a global company pmdus:ing millions in revenue, a lot of
larger media companies want to purchase it. Zuckerberg has always refused to sell
though some claim that an offer of $ 2 billion dollars was made.

The idea behind Facebook is to make us feel connected all the time. However the
truth is quite different. Technology has made the fact of being alone seem like a
problem that needs solving. When young people are alone, even for a minute or
two, they feel need to connect, to get a facebook or on some other social network.
But in connecting online they end up feeling more isolated. Why ? Because by being
in constant connection, they lose the ability to feel satisfied with their own company.

Facebook connects most of us to move closer to our friends and family, more than
we have ever been connected before. Yes, Facebook is a huge time sink. Many people
post useless stuff. And seeing too much of your friend’s life can make you jealous.
According to my friend Jane, because of lots of photos and information updates you
know what is happening with your friends all the time. It may lead to frustration
ultimately and you may end up feeling lonely. In fact, if you are lonely in real life,
you will be lonely online as well.

Read the following sentences :

A)
B
1

S

)
T St S St

(
(
(
(
(
(

4

We never feel isolated because of Facebook.

Because of social media we are no longer comfortable in our own company.
Both (A) and (B) are true

Both (A) and (B) are false
(A) is true and (B) is false

(A) is false and (B) is true

[Question ID = 312][Question Description = S17_English Content/Pedagogy_Q132]
1. 1 [Option ID = 1245]
2. 2 [Option ID = 1246]
3. 3 [Option ID = 1247]
4. 4 [Option ID = 1248]

5)



Read the passage given below and answer the question that follow :

(1)

Facebook is a social network service and website, which was launched in 2004,
February by former- Harvard student of psychology, Mark Zuckerberg, and his three
college roommates and fellow students. He ran Facebook as one of his hobby projects
with some financial help from Eduardo Saverin. With its 900+million users, every
7.76™ person in the world has a Facebook account. It is the most visited page on the
internet. The most growing country on Facebook is Brazil.

It became the world’s fastest growing company when it surpassed 500 million active
users in 2010. It became a global company producing millions in revenue, a lot of
larger media companies want to purchase it. Zuckerberg has always refused to sell
though some claim that an offer of $ 2 billion dollars was made.

The idea behind Facebook is to make us feel connected all the time. However the
truth is quite different. Technology has made the fact of being alone seem like a
problem that needs solving. When young people are alone, even for a minute or
two, they feel need to connect, to get a facebook or on some other social network.
But in connecting online they end up feeling more isolated. Why ? Because by being
in constant connection, they lose the ability to feel satisfied with their own company.

Facebook connects most of us to move closer to our friends and family, more than
we have ever been connected before. Yes, Facebook is a huge time sink. Many people
post useless stuff. And seeing too much of your friend’s life can make you jealous.
According to my friend Jane, because of lots of photos and information updates you
know what is happening with your friends all the time. It may lead to frustration
ultimately and you may end up feeling lonely. In fact, if you are lonely in real life,
you will be lonely online as well.

The word * isolated’ in para 2 means the same as :

(1)
(2)
(3)
(4)

free
lonely
selfish
careless

[Question ID = 313][Question Description = S17_English Content/Pedagogy_Q133]
1. 1 [Option ID = 1249]
2. 2 [Option ID = 1250]
3. 3 [Option ID = 1251]
4. 4 [Option ID = 1252]

6)



Read the passage given below and answer the question that follow :

(1)

Facebook is a social network service and website, which was launched in 2004,
February by former- Harvard student of psychology, Mark Zuckerberg, and his three
college roommates and fellow students. He ran Facebook as one of his hobby projects
with some financial help from Eduardo Saverin. With its 900+million users, every
7.76™ person in the world has a Facebook account. It is the most visited page on the
internet. The most growing country on Facebook is Brazil.

It became the world’s fastest growing company when it surpassed 500 million active
users in 2010. It became a global company producing millions in revenue, a lot of
larger media companies want to purchase it. Zuckerberg has always refused to sell
though some claim that an offer of $ 2 billion dollars was made.

The idea behind Facebook is to make us feel connected all the time. However the
truth is quite different. Technology has made the fact of being alone seem like a
problem that needs solving. When young people are alone, even for a minute or
two, they feel need to connect, to get a facebook or on some other social network.
But in connecting online they end up feeling more isolated. Why ? Because by being
in constant connection, they lose the ability to feel satisfied with their own company.

Facebook connects most of us to move closer to our friends and family, more than
we have ever been connected before. Yes, Facebook is a huge time sink. Many people
post useless stuff. And seeing too much of your friend’s life can make you jealous.
According to my friend Jane, because of lots of photos and information updates you
know what is happening with your friends all the time. It may lead to frustration
ultimately and you may end up feeling lonely. In fact, if you are lonely in real life,
you will be lonely online as well.

‘Time sink” in para 4 refers to something that consumes a great deal of timeina

manner.
(1) wasteful

(2) useful

(3) constructive
(4)  beneficial

[Question ID = 314][Question Description = S17_English Content/Pedagogy_Q134]
1. 1 [Option ID = 1253]
2. 2 [Option ID = 1254]
3. 3 [Option ID = 1255]
4. 4 [Option ID = 1256]

7)



Read the passage given below and answer the question that follow :

(1)

Facebook is a social network service and website, which was launched in 2004,
February by former- Harvard student of psychology, Mark Zuckerberg, and his three
college roommates and fellow students. He ran Facebook as one of his hobby projects
with some financial help from Eduardo Saverin. With its 900+million users, every
7.76tH person in the world has a Facebook account. It is the most visited page on the
mternet. The most growing country on Facebook is Brazil.

It became the world’s fastest growing company when it surpassed 500 million active
users in 2010. It became a global company pmdus:ing millions in revenue, a lot of
larger media companies want to purchase it. Zuckerberg has always refused to sell
though some claim that an offer of $ 2 billion dollars was made.

The idea behind Facebook is to make us feel connected all the time. However the
truth is quite different. Technology has made the fact of being alone seem like a
problem that needs solving. When young people are alone, even for a minute or
two, they feel need to connect, to get a facebook or on some other social network.
But in connecting online they end up feeling more isolated. Why ? Because by being
in constant connection, they lose the ability to feel satisfied with their own company.

Facebook connects most of us to move closer to our friends and family, more than
we have ever been connected before. Yes, Facebook is a huge time sink. Many people
post useless stuff. And seeing too much of your friend’s life can make you jealous.
According to my friend Jane, because of lots of photos and information updates you
know what is happening with your friends all the time. It may lead to frustration
ultimately and you may end up feeling lonely. In fact, if you are lonely in real life,
you will be lonely online as well.

In the sentence ‘your friend’s life can make you jealous’ the word jealous is used as a/an :

(1

(
(
(4

)
2)
3)

)

noun
verb
adjective

adverb

[Question ID = 315][Question Description = S17_English Content/Pedagogy_Q135]
1. 1 [Option ID = 1257]
2. 2 [Option ID = 1258]
3. 3 [Option ID = 1259]
4. 4 [Option ID = 1260]

Topic:- ENG_Q136-150_L2_P2_CTET

1)

At what stages of schooling does the National Education Policy 2020 recommend the
study of classical and foreign languages ?

(D)

(
(
(

2

2

4

)
)
)

Foundational stage
Middle stage
Foundational and secondary stage

Middle and secondary stages



[Question ID = 316][Question Description = S17_English Content/Pedagogy_Q136]
1. 1 [Option ID = 1261]
2. 2 [Option ID = 1262]
3. 3 [Option ID = 1263]
4. 4 [Option ID = 1264]

2)

Which of the following is NOT true of multilingual education in schools ?

(1)

All learners learn mother tongue / home language, state language, Hindi, English
and other languages.

All children learn through the medium of English during their secondary stage of
schooling,

Schools systems and states should make provision for learning of languages of learners
in school.

All children in school begin their schooling in their mother tongue and move on to
add many (at least) more languages.

[Question ID = 317][Question Description = S17_English Content/Pedagogy_Q137]
1. 1 [Option ID = 1265]
2. 2 [Option ID = 1266]
3. 3 [Option ID = 1267]
4. 4 [Option ID = 1268]

3)

A learner from Kerala moves to Lucknow. As her mother tongue is Malayalam and she
learns French as a third language. She learns Hindi very well from neighbourhood and
community. What is the difference between her learning French and Hindi ?

(1)
(2)
(3)
(4)

French learning is language learning and Hindi learning is language acquisition.
Hindi learning is language learning and French learning is language acquisition.
Both are language learning,

Both are language acquisition.

[Question ID = 318][Question Description = S17_English Content/Pedagogy_Q138]
1. 1 [Option ID = 1269]
2. 2 [Option ID = 1270]
3. 3 [Option ID = 1271]
4. 4 [Option ID = 1272]

4)

A teacher of class VII in her grammar class takes the grammatical item, voice and tense.
She provided them texts from their textbook reading in which the grammar item appears
and gave lot of practice to notice the item in natural discourse and practice to internalize
the item. At the end she drew their attention to the rules of voice and tense. What
approach to grammar teaching does she adopt in her class ?

(1)
(2)
(3)
(4)

Declarative grammar
Rule based grammar
Communicative grammar

Procedural grammar

[Question ID = 319][Question Description = S17_English Content/Pedagogy_Q139]
1. 1 [Option ID = 1273]



2. 2 [Option ID = 1274]
3. 3 [Option ID = 1275]
4. 4 [Option ID = 1276]

?) Which of the following is NOT an authentic text for language learning ?

(
(

1)
2)
(3) A poem written by the teacher for her classroom
(4)

[Question ID = 320][Question Description = S17_English Content/Pedagogy_Q140]
1 [Option ID = 1277]
2 [Option ID = 1278]
3 [Option ID = 1279]
4 [Option ID = 1280]

A tourist brochure for a hill station in India

A translated poem from another Indian language

An extract from an epic written in 19th century

A W N -

6)
What is ‘Bhasha Sangam’ ?
(1) Government of India’s flagship programme for promotion of Indian languages in
school

(2) Government of India’s flagship programme for promotion of foreign languages in
school

(3) Government of India’s flagship programme for promotion of Indian culture in school

(4) Government of India’s flagship programme for promotion of classical languages in
school

[Question ID = 321][Question Description = S17_English Content/Pedagogy_Q141]
1 [Option ID = 1281]
2 [Option ID = 1282]
3 [Option ID = 1283]
4 [Option ID = 1284]

AW N =

7)
Which one of the following statement is NOT true about a language classroom ?
(1

) A noisy class means a class has involved learners in learning,.

(2) A disciplined class is one where learners sit quietly and teacher teaches well.
).
)

o=

(
(4

Think, pair, share are the ways to engage the whole class in an activity.
A teacher makes learners to role play the story.

[Question ID = 322][Question Description = S17_English Content/Pedagogy_Q142]
1 [Option ID = 1285]
2 [Option ID = 1286]
3 [Option ID = 1287]
4 [Option ID = 1288]

A WN =

8)



A teacher of class VIII divides her class into groups of four and assign reading tasks which

involves reading, consulting a dictionary, summarizing, note making and so on. What
are these skills known as ?
(1)  Study skills
(2) Study habits
(3) Group study work
(4) Reading to writing
[Question ID = 323][Question Description = S17_English Content/Pedagogy_Q143]
. 1 [Option ID = 1289]
2 [Option ID = 1290]

3 [Option ID = 1291]
4 [Option ID = 1292]

A W N -

? What typology of question the following question come under ?

“Why do you think the narrator walked out of her home ?”
(1) Informative questions
(2) Inferential question
(3) Extrapolative question
(4) Emotive question
[Question ID = 324][Question Description = S17_English Content/Pedagogy_Q144]
1. 1 [Option ID = 1293]
2. 2 [Option ID = 1294]
3. 3 [Option ID = 1295]
4. 4 [Option ID = 1296]

10)

Children from tribal and minor language background enter school with their mother tongue.
They are made to study in a language medium which not their mother tongue or familiar
languages. This leads to

(1) subtractive bilingualism

(2) addifive bilingualism

(3) mother tongue based multilingualism

(4)

[Question ID = 325][Question Description = S17_English Content/Pedagogy_Q145]
1. 1 [Option ID = 1297]
2. 2 [Option ID = 1298]
3. 3 [Option ID = 1299]
4. 4 [Option ID = 1300]

language loss

11)



Swati is a teacher of class VIII and she collects the errors of learners and discusses once
in a week without mentioning who commits such errors. What does she attempt to do ?

(1

2

)
)
)

u:]

(
(:
(4)

She does an error analysis of learners.

She provides feedback to her learners.

She is teaching grammar through the errors of learners,

She corrects the mistakes of learners.

[Question ID = 326][Question Description = S17_English Content/Pedagogy_Q146]

A W N -

12)

()
(b)
(©)
(1
(2
(3

)
)
)
4)

1 [Option ID = 1301]
2 [Option ID = 1302]
3 [Option ID = 1303]
4 [Option ID = 1304]

Which of the following would you suggest as ideal for teaching of vocabulary ?

Giving the meaning of words in isolation.

Translating the meaning of words into Indian languages.
Creating word web and collocation of words thematically.
(a), (b) and (c) are correct

(b) is correct

(c) is correct

(a) is correct

[Question ID = 327][Question Description = S17_English Content/Pedagogy_Q147]
1. 1 [Option ID = 1305]
2. 2 [Option ID = 1306]
3. 3 [Option ID = 1307]
4. 4 [Option ID = 1308]

13)

A learner of class VIis unable to read a longer texts. She reads sound of letters and adds
to make a word. Which of the following would you suggest her to improve her reading ?

()
(b)

)

B

4

P T, e L m e, g—
—

To read the spelling first and then the sounds.

To read the whole word as a word not as individual letters.

To have more practice in the same manner.

To listen to someone reading out and then read on her own.

(a) and (c)

(b) and (d)
(a), (b) and (c)

(d) and (a)

[Question ID = 328][Question Description = S17_English Content/Pedagogy_Q148]

A WN -

1 [Option ID = 1309]
2 [Option ID = 1310]
3 [Option ID = 1311]
4 [Option ID = 1312]



14)

‘Continuous’ in Continuous Comprehensive Assessment implies

(
(
(
(

1
2
3
=

)

)
)
)

Assessment of all activities of learners in and outside the classroom.
Period assessment of learners” performances.

Formative and Summative assessments,

Assessment of teaching of teachers and learning by learners.

[Question ID = 329][Question Description = S17_English Content/Pedagogy_Q149]
1 [Option ID = 1313]
2 [Option ID = 1314]
3 [Option ID = 1315]
4 [Option ID = 1316]

AW N =

15)
A teacher of class VI gives the following task to her students. Which of these tasks is

authentic ?

(a) Recite a poem on rainy day from the textbook.

(b)  Writea letter to the Municipal Commissioner complaining about water logging during
the monsoon season.

(1) (a) and (b) are authentic tasks.

(2) (b) is an authentic task.

(3) (a) is authentic task.

(4) Both (a) and (b) are not authentic tasks.

[Question ID = 330][Question Description = S17_English Content/Pedagogy_Q150]
1 [Option ID = 1317]
2 [Option ID = 1318]
3 [Option ID = 1319]
4 [Option ID = 1320]
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